1ISO 6432, ') —X CSL-RD

AVENTICS™  AVENTICSCSL-RD ¥ J—X =T &,
1) >4 — (1SO 6432 y
At ) EMERSON.



AVENTICSCSL-RD 2 )—X ZZ=Z2 )8 — 2
(1SO 6432) 2024-01-18

21)—X CSL-RD

AVENTICSCSL-RD &) —X (1S06432) VA —k, ATVLAAF—IOABEI VA —T, 3D20OEEZDTYH
A2 (1SO, 91—, 22 ) THERTEET, CSL-RD>J—X (1S06432) i&. BoAA&7O7 7/ EREMBEE
MRS, AFVLAARF—I)., NSF-H1 U —R, BLV FDAEROI—)LTTETHY ., BREVEMICEL TVE
9,

- VNI RTHY— R

- FUA—AY ROBWRIL—/N—F, EZK =
>OY KOBY DFNPT Y KAR—ADER ~
EBEET mﬁ%
R % 2 ORI

fEMEICHT BT

EARNOERIE 16 mMm—63 mm TT -
SUHINERRYOY K, BY/ENRER/ED _-m?,,;%ﬂ
BEOIYVS I, BRKRE, ATEXELTH \ﬂ"ﬁ%ﬁ .

I 15

EMERSON.



AVENTICSCSL-RD 2 )—X ZZ=Z2 )8 — 3
(1SO 6432) 2024-01-18

NEmBEE

EMERSON.



AVENTICS CSL-RD > —X

(ISO 6432)

n
[
\’l

4
2024-01-18

S ) A —, 2 1)—X CSL-RD

NS YU —ERFEI I —
¥REE
ERNITOERICES
ATEX THA 7> 3>

N—=23ay  EERALT

pag ]

NTZY MIZEERKNY

= E RS AR E

il

Mt U

BREHY ( FDANSF/EC No. 1935/2004 23T )

L7 B
EC NO 1935/2004

A=

EZ b ARA=Y  K-=h ERAN> ERAR> XTUTILES
v o [mm] AAFE A HEE
[mm] [N] (N]
16 25 M5 | ZERET | YITRY b M6| R@MIT 109 127 R412020409
B | EERbL OERICE
> BLLEREE
eL
16 50 M5 | ZEFRERE | YITERY b M6| BR@MIT 109 127 R412020410
BEREE | HEEAN OERICE
b4 AL ILREE
L
16 80 M5 | ZEFRET | YITRY B M6| REMIT 109 127 R412020411
BemE | fEEAL OFERICE
> aLLREE
eL
16 100 M5 | ZEFEHE | YIRY N M6| R@MIT 109 127 R412020412
BEE| fEEAL OERICE
> BLLEREE
eL
16 125 M5 | ZEEFREA | YIRY b M6| R@MIT 109 127 R412020413
BEE | FEEAL OERICE
b4 AL L%
L
16 160 M5 | ZEFREA | YIRY B M6| REMIT 109 127 R412020414
RERE | NEERL OEMICE
> aLLREE
&L
16 200 M5 | ZEREW | XITRY b M6| REMIT 109 127 R412020415
BEmE| fEEAL OERICE
> AL LR
EL
16 250 M5 | ZEEFERE | YIERY b M6| R@MIT 109 127 R412020416
BERE| fEERL OERICE
> AL LIRS
el
16 320 M5 | ZEFREA | YITRY B M6| REMIT 109 127 R412020417
BERE | FEERL OEMICE
> aLLREE
L

EMERSON.



AVENTICSCSL-RD > U—X -2 U A — 5
(ISO 6432) 2024-01-18

EZ b AhA—=2  HK-=b ERAN> ERAN XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
16 400 M5 | ZERET | YITRY b M6| R@EMIT 109 127 R412020418
B | NEERbL DEMRICE
> AL LR
el
16 500 M5 | ZEFRERE | YITRY b M6| BREMIT 109 127 R412020419
BEE | fEEAL OERICE
b4 AL L%
L
20 25 G1/8| ZERMA| YIRY K M8| REMIT 166 198 R412020453
BT | NEERL OEMAICE
> aLLREE
eL
20 50 G1/8| ZERHA| YIRY K M8| R@EMIT 166 198 R412020454
BEE| fEEAL OERICE
> AL LR
eL
20 80 G1/8| ZESRMA| YIXRY K M8| R@EMIT 166 198 R412020455
BEE | fEEAL DEMRICE
> ALLREE
L
20 100 G1/8| ZESRMA| YIERVY K M8| REMIT 166 198 R412020456
BERE | NEERL OEMICE
> aLLEE
&L
20 125 G1/8| ZERHA| YIRY K M8| RSEMIT 166 198 R412020457
BEmE| fEEAL OERICE
> ELLRE
EL
20 160 G1/8| ZER/EA| YTV b M8| R@EMIT 166 198 R412020458
BEERE| FEERL OERICE
> BLLEREE
el
20 200 G1/8| ZESRMA| YIERY K M8| E@MIT 166 198 R412020459
REREE | HEEAN OEMAICE
p% AL ILREE
L
20 250 G1/8| ZERMHA| YIRY K M8| REMIT 166 198 R412020460
BEmE | fEEAL OFERICE
g ALIEE
&L
20 320 G1/8| ZERHA| YIRY K M8| R@MIT 166 198 R412020461
B | NEERbL DEMRICE
> AL LR
eL
20 400 G1/8| ZESRMA| YIXRVY K M8| BEMIT 166 198 R412020462
BEE | FEEAL OERICE
b4 AL ILE%
L
20 500 G1/8| ZERMA| YIRY K M8| REMIT 166 198 R412020463
BT | NEERL OEMICE
> aLLREE
&L
25 25 G1/8| ZERHA| YJRY K| MI0x1,25| BRMIT 260 309 R412020497
BEE| fEEAL OEMRICE
> AL LEREE
eL

EMERSON.



AVENTICSCSL-RD > U—X -2 U A — 6
(ISO 6432) 2024-01-18

EZ b AhA—=2  HK-=b ERAN> ERAN XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
25 50 G1/8| ZER/HA| YJRY K| MI0x1,25| BRMIT 260 309 R412020498
B | NEERbL DEMRICE
> AL LR
el
25 80 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 260 309 R412020499
BEE | fEEAL OERICE
b4 AL L%
L
25 100 G1/8| ZERMA| YTXY K| MI10x1,25| E@RINIT 260 309 R412020500
BT | NEERL OEMAICE
> aLLREE
eL
25 125 G1/8| ZER/HA| YJRY K| MI0x1,25| BRMIT 260 309 R412020501
BEE| fEEAL OERICE
> AL LR
eL
25 160 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 260 309 R412020502
BEE | fEEAL DEMRICE
> ALLREE
L
25 200 G1/8| ZEREMA| YJXY K| MI10x1,25| E@RINIT 260 309 R412020503
BERE | NEERL OEMICE
> aLLEE
&L
25 250 G1/8| Z=EBHT| IT/ZY K| MI0x1,25| BRMMIT 260 309 R412020504
BEmE| fEEAL OERICE
> ELLRE
EL
25 320 G1/8| ZER/HA| YIXY K| MI0x1,25| ERMIT 260 309 R412020505
BEERE| FEERL OERICE
> BLLEREE
el
25 400 G1/8| ZERHA| YTXY K| MI10x1,25| R@RINIT 260 309 R412020506
REREE | HEEAN OEMAICE
p% AL ILREE
L
25 500 G1/8| ZERMA| YTJ/RY K| MI0x1,25| RBIIT 260 309 R412020507
BEmE | fEEAL OFERICE
g ALIEE
&L
32 25 G1/8| ZER/HE| YIRY K| MI0x1,25| BRMIT 435 505 R481624742
B | NEERbL DEMRICE
> AL LR
eL
32 50 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 435 505 R481624743
BEE | FEEAL OERICE
b4 AL ILE%
L
32 80 G1/8| ZEREMA| YTXY K| MI10x1,25| E@RMNTT 435 505 R481624744
BT | NEERL OEMICE
> aLLREE
&L
32 100 G1/8| ZERHA| YJRY K| MI0x1,25| BRMIT 435 505 R481624745
BEE| fEEAL OEMRICE
> AL LEREE
eL

EMERSON.



AVENTICSCSL-RD U —X X2 U A — 7
(ISO 6432) 2024-01-18

EZ b AhA—=2  HK-=b ERAN> ERAN XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
32 125 G1/8| ZER/HA| YJRY K| MI0x1,25| BRMIT 435 505 R481624746
B | NEERbL DEMRICE
> AL LR
el
32 160 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 435 505 R481624747
BEE | fEEAL OERICE
b4 AL L%
L
32 200 G1/8| ZERMA| YTXY K| MI10x1,25| E@RINIT 435 505 R481624748
BT | NEERL OEMAICE
> aLLREE
eL
32 250 G1/8| ZER/HA| YJRY K| MI0x1,25| BRMIT 435 505 R481624749
BEE| fEEAL OERICE
> AL LR
eL
32 320 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 435 505 R481624750
BEE | fEEAL DEMRICE
> ALLREE
L
32 400 G1/8| ZEREMA| YJXY K| MI10x1,25| E@RINIT 435 505 R481624751
BERE | NEERL OEMICE
> aLLEE
&L
32 500 G1/8| Z=EBHT| IT/ZY K| MI0x1,25| BRMMIT 435 505 R481624752
BEmE| fEEAL OERICE
> ELLRE
EL
40 25 G1/4| ZER/HI| YTRY K| MI12x1,25| BRMIT 660 790 R481624753
BEERE| FEERL OERICE
> BLLEREE
el
40 50 G1/4| ZER/HA| YTV K| MI12x1,25| E@RINIT 660 790 R481624754
REREE | HEEAN OEMAICE
p% AL ILREE
L
40 80 G1/4| ZERMA| YTRY K| MI12x1,25| RBIIT 660 790 R481624755
BEmE | fEEAL OFERICE
g ALIEE
&L
40 100 G1/4| ZERHI| ITRY K| MI12x1,25| BRMIT 660 790 R481624756
B | NEERbL DEMRICE
> AL LR
eL
40 125 G1/4| Z=EBHA| IT/ZY K| MI12x1,25| BRRBMIT 660 790 R481624757
BEE | FEEAL OERICE
b4 AL ILE%
L
40 160 G1/4| ZERHA| YTV K| MI12x1,25| E@RNTT 660 790 R481624758
BT | NEERL OEMICE
> aLLREE
&L
40 200 G1/4| ZERHA| ITRY K| MI12x1,25| BRMIT 660 790 R481624759
BEE| fEEAL OEMRICE
> AL LEREE
eL

EMERSON.



AVENTICSCSL-RD > U—X -2 U A — 8
(ISO 6432) 2024-01-18

EZ b AhA—=2  HK-=b ERAN> ERAN XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
40 250 G1/4| ZER/HI| ITRY K| MI12x1,25| BRMIT 660 790 R481624760
B | NEERbL DEMRICE
> AL LR
el
40 320 G1/4| Z=EBHA| IT/ZY K| MI12x1,25| RBMIT 660 790 R481624761
BEE | fEEAL OERICE
b4 AL L%
L
40 400 G1/4| ZERHA| YTV K| MI12x1,25| E@RNTT 660 790 R481624762
BT | NEERL OEMAICE
> aLLREE
eL
40 500 G1/4| ZERHA| ITRY K| MI12x1,25| BRMIT 660 790 R481624763
BEE| fEEAL OERICE
> AL LR
eL
50 25 G1/4| ZEREHA| YTV b M16x1,5| BREMIT 1035 1235 R481624764
BEE | fEEAL DEMRICE
> ALLREE
L
50 50 G1/4| ZERMA| YITERY K M16x1,5| R&MIT 1035 1235 R481624765
BERE | NEERL OEMICE
> aLLEE
&L
50 80 G1/4| ZERHA| YITRY K M16x1,5| R&MIT 1035 1235 R481624766
BEmE| fEEAL OERICE
> ELLRE
EL
50 100 G1/4| ZERHA| YIRY b M16x1,5| R&EMIT 1035 1235 R481624767
BEERE| FEERL OERICE
> BLLEREE
el
50 125 G1/4| ZERMA| YTV b M16x1,5| BR&MIT 1035 1235 R481624768
REREE | HEEAN OEMAICE
p% AL ILREE
L
50 160 G1/4| ZERHA| YITRY K M16x1,5| BEMIT 1035 1235 R481624769
BEmE | fEEAL OFERICE
g ALIEE
&L
50 200 G1/4| ZERHA| YIRY b M16x1,5| R&EMIT 1035 1235 R481624770
B | NEERbL DEMRICE
> AL LR
eL
50 250 G1/4| ZERMA| YTERY b M16x1,5| REMIT 1035 1235 R481624771
BEE | FEEAL OERICE
b4 AL ILE%
L
50 320 G1/4| ZERMA| YIRY b M16x1,5| B&MIT 1035 1235 R481624772
BT | NEERL OEMICE
> aLLREE
&L
50 400 G1/4| ZERHA| YITRY b M16x1,5| R&EMIT 1035 1235 R481624773
BEE| fEEAL OEMRICE
> AL LEREE
eL

EMERSON.



AVENTICSCSL-RD > U—X -2 U A — 9
(ISO 6432) 2024-01-18

EZ b ARA=Y  K-=h ERAN> EAR> XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
50 500 G1/4| ZERHA| YIRY K M16x1,5| R&EMIT 1035 1235 R481624774
B | NEERbL DEMRICE
> AL LR
el
63 25 G3/8| ZEHAMA| YIERY K M16x1,5| BREMIT 1765 1960 R481624775
BEE | fEEAL OERICE
b4 AL L%
L
63 50 G3/8| ZEHRMA| YIRVY K M16x1,5| BR&MIT 1765 1960 R481624776
BT | NEERL OEMAICE
> aLLREE
eL
63 80 G3/8| ZERHA| YIRY K M16x1,5| R&EMIT 1765 1960 R481624777
BEE| fEEAL OERICE
> AL LR
eL
63 100 G3/8| ZEHAMA| YIERY K M16x1,5| BREMIT 1765 1960 R481624778
BEE | fEEAL DEMRICE
> ALLREE
L
63 125 G3/8| ZESRMA| YIRVY K M16x1,5| R&MIT 1765 1960 R481624779
BERE | NEERL OEMICE
> aLLEE
&L
63 160 G3/8| ZERHA| YIRY K M16x1,5| R&MIT 1765 1960 R481624780
BEmE| fEEAL OERICE
> ELLRE
EL
63 200 G3/8| ZESRHA| YIRY K M16x1,5| R&EMIT 1765 1960 R481624781
BEERE| FEERL OERICE
> BLLEREE
el
63 250 G3/8| ZEMMA| YIRY K M16x1,5| BR&MIT 1765 1960 R481624782
REREE | HEEAN OEMAICE
> aLLREE
L
63 320 G3/8| ZEHRMA| YIRY K M16x1,5| BEMIT 1765 1960 R481624783
BEmE | fEEAL OFERICE
g ALIEE
&L
63 400 G3/8| ZERHA| YIRY K M16x1,5| R&EMIT 1765 1960 R481624784
B | NEERbL DEMRICE
> AL LR
eL
63 500 G3/8| ZEHAMA| YIRVY K M16x1,5| REMIT 1765 1960 R481624785
BEE | FEEAL OERICE
b4 AL ILE%
L

EMERSON.



AVENTICSCSL-RD 2 —X -2 )& — 10
(ISO 6432) 2024-01-18
& (mm)
G VA
4 sw 2\ SN .\ oy Y SW3
5 | W
& =1 W
E = [ | B ME e 4
\\ » = N
A 2
N = o
EW KY BF L
D |AM | wr
XC+S
ZN+S
M1 M2
=
=
L1l
EE EE
PB+S
S=AKN0O—-7
EALNY @ AM-2 BE BF CD H9 CK &K b) EE EW d13 KK KV
16 16 M16x1,5 16 6 19,5 22 M5 12 M6 24
20 20 M22x1,5 18 8 23 28 G1/8 16 M8 32
25 22 M22x1,5 20 8 255 33 G1/8 16 M10x1,25 32
32 22 M30x1,5 25 10 28 38 G1/8 16 M10x1,25 36
40 24 M38x1,5 28 12 36,5 49 G1/4 18 M12x1,25 46
50 32 M45x1,5 32 16 40,5 57 G1/4 21 M16x1,5 55
63 32 M45x1,5 32 16 47 70 G 3/8 21 M16x1,5 55
EARY @ KW KX KY L &b M1 M2 MM f8 MR PB #1 VA
16 8 10 3,2 9 6,7 6,7 6 16 43,6 16
20 11 13 4 12 9,7 9,7 8 18 48,6 18
25 11 17 5 12 9,7 9,7 10 19 51,8 20
32 8 17 5 14 9,5 11,7 12 - 46 -
40 10 18 6 16 9,8 8,7 16 - 66 -
50 10 24 8 17 9,8 8,3 20 - 68 -
63 10 24 8 17 13 9,7 20 - 715 -
SW2hi13
16 22 82 94,7 20 5 2,5
20 24 95 109,7 24 6 2,5
25 28 104 119,7 28 8 2,5
4

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 11

(ISO 6432) 2024-01-18
EANY @ WF 1,4 XC 1 ZN 1 S SW2h13 SW3
32 34 17,5 129,5 35 10 3
40 39 139,6 153,5 45 13 3
50 44 147,2 163 53 17 3
63 44 155 171 66 17 3

EMERSON.



AVENTICS CSL-RD > —X

(ISO 6432)

n
[
\’l

12
2024-01-18

S ) A —, 2 1)—X CSL-RD

MR YR —ERAFI I —
¥ERER
ERNITOERICES

ATEX THT>3a>

N—2 32 HENKRRE

Frfl

NTZY MIZEERKNY
ZEERE AR E

HRl

it U

BREHY ( FDANSF/EC No. 1935/2004 23T )

L7 B
EC NO 1935/2004

EZ b ARA=Y  K-=h ERAN> ERAR> XTUTILES
v o [mm] AAFE A HEE
[mm] [N] (N]
16 25 M5 | ZERET | YITRY b M6| R@MIT 109 127 R412020431
B | EERbL OERICE
> BLLEREE
eL
16 50 M5 | ZEFRERE | YITERY b M6| BR@MIT 109 127 R412020432
BEREE | HEEAN OERICE
b4 AL ILREE
L
16 80 M5 | ZEFRET | YITRY B M6| REMIT 109 127 R412020433
BemE | fEEAL OFERICE
> aLLREE
eL
16 100 M5 | ZEFEHE | YIRY N M6| R@MIT 109 127 R412020434
BEE| fEEAL OERICE
> BLLEREE
eL
16 125 M5 | ZEEFREA | YIRY b M6| R@MIT 109 127 R412020435
BEE | FEEAL OERICE
b4 AL L%
L
16 160 M5 | ZEFREA | YIRY B M6| REMIT 109 127 R412020436
RERE | NEERL OEMICE
> aLLREE
&L
16 200 M5 | ZEREW | XITRY b M6| REMIT 109 127 R412020437
BEmE| fEEAL OERICE
> AL LR
EL
16 250 M5 | ZEEFERE | YIERY b M6| R@MIT 109 127 R412020438
BERE| fEERL OERICE
> AL LIRS
el
16 320 M5 | ZEFREA | YITRY B M6| REMIT 109 127 R412020439
BERE | FEERL OEMICE
> aLLREE
L

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 13
(1SO 6432) 2024-01-18

EZ b AhA—=2  HK-=b ERAN> ERAN XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
16 400 M5 | ZERET | YITRY b M6| R@EMIT 109 127 R412020440
B | NEERbL DEMRICE
> AL LR
el
16 500 M5 | ZEFRERE | YITRY b M6| BREMIT 109 127 R412020441
BEE | fEEAL OERICE
b4 AL L%
L
20 25 G1/8| ZERMA| YIRY K M8| REMIT 166 198 R412020475
BT | NEERL OEMAICE
> aLLREE
eL
20 50 G1/8| ZERHA| YIRY K M8| R@EMIT 166 198 R412020476
BEE| fEEAL OERICE
> AL LR
eL
20 80 G1/8| ZESRMA| YIXRY K M8| R@EMIT 166 198 R412020477
BEE | fEEAL DEMRICE
> ALLREE
L
20 100 G1/8| ZESRMA| YIERVY K M8| REMIT 166 198 R412020478
BERE | NEERL OEMICE
> aLLEE
&L
20 125 G1/8| ZERHA| YIRY K M8| RSEMIT 166 198 R412020479
BEmE| fEEAL OERICE
> ELLRE
EL
20 160 G1/8| ZER/EA| YTV b M8| R@EMIT 166 198 R412020480
BEERE| FEERL OERICE
> BLLEREE
el
20 200 G1/8| ZESRMA| YIERY K M8| E@MIT 166 198 R412020481
REREE | HEEAN OEMAICE
p% AL ILREE
L
20 250 G1/8| ZERMHA| YIRY K M8| REMIT 166 198 R412020482
BEmE | fEEAL OFERICE
g ALIEE
&L
20 320 G1/8| ZERHA| YIRY K M8| R@MIT 166 198 R412020483
B | NEERbL DEMRICE
> AL LR
eL
20 400 G1/8| ZESRMA| YIXRVY K M8| BEMIT 166 198 R412020484
BEE | FEEAL OERICE
b4 AL ILE%
L
20 500 G1/8| ZERMA| YIRY K M8| REMIT 166 198 R412020485
BT | NEERL OEMICE
> aLLREE
&L
25 25 G1/8| ZERHA| YJRY K| MI0x1,25| BRMIT 260 309 R412020519
BEE| fEEAL OEMRICE
> AL LEREE
eL

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 14
(1SO 6432) 2024-01-18

EZ b AhA—=2  HK-=b ERAN> ERAN XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
25 50 G1/8| ZER/HA| YJRY K| MI0x1,25| BRMIT 260 309 R412020520
B | NEERbL DEMRICE
> AL LR
el
25 80 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 260 309 R412020521
BEE | fEEAL OERICE
b4 AL L%
L
25 100 G1/8| ZERMA| YTXY K| MI10x1,25| E@RINIT 260 309 R412020522
BT | NEERL OEMAICE
> aLLREE
eL
25 125 G1/8| ZER/HA| YJRY K| MI0x1,25| BRMIT 260 309 R412020523
BEE| fEEAL OERICE
> AL LR
eL
25 160 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 260 309 R412020524
BEE | fEEAL DEMRICE
> ALLREE
L
25 200 G1/8| ZEREMA| YJXY K| MI10x1,25| E@RINIT 260 309 R412020525
BERE | NEERL OEMICE
> aLLEE
&L
25 250 G1/8| Z=EBHT| IT/ZY K| MI0x1,25| BRMMIT 260 309 R412020526
BEmE| fEEAL OERICE
> ELLRE
EL
25 320 G1/8| ZER/HA| YIXY K| MI0x1,25| ERMIT 260 309 R412020527
BEERE| FEERL OERICE
> BLLEREE
el
25 400 G1/8| ZERHA| YTXY K| MI10x1,25| R@RINIT 260 309 R412020528
REREE | HEEAN OEMAICE
p% AL ILREE
L
25 500 G1/8| ZERMA| YTJ/RY K| MI0x1,25| RBIIT 260 309 R412020529
BEmE | fEEAL OFERICE
g ALIEE
&L
32 25 G1/8| ZER/HE| YIRY K| MI0x1,25| BRMIT 435 505 R481624852
B | NEERbL DEMRICE
> AL LR
eL
32 50 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 435 505 R481624853
BEE | FEEAL OERICE
b4 AL ILE%
L
32 80 G1/8| ZEREMA| YTXY K| MI10x1,25| E@RMNTT 435 505 R481624854
BT | NEERL OEMICE
> aLLREE
&L
32 100 G1/8| ZERHA| YJRY K| MI0x1,25| BRMIT 435 505 R481624855
BEE| fEEAL OEMRICE
> AL LEREE
eL

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 15
(1SO 6432) 2024-01-18

EZ b AhA—=2  HK-=b ERAN> ERAN XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
32 125 G1/8| ZER/HA| YJRY K| MI0x1,25| BRMIT 435 505 R481624856
B | NEERbL DEMRICE
> AL LR
el
32 160 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 435 505 R481624857
BEE | fEEAL OERICE
b4 AL L%
L
32 200 G1/8| ZERMA| YTXY K| MI10x1,25| E@RINIT 435 505 R481624858
BT | NEERL OEMAICE
> aLLREE
eL
32 250 G1/8| ZER/HA| YJRY K| MI0x1,25| BRMIT 435 505 R481624859
BEE| fEEAL OERICE
> AL LR
eL
32 320 G1/8| ZERHA| YIXY K| MI0x1,25| ERMIT 435 505 R481624860
BEE | fEEAL DEMRICE
> ALLREE
L
32 400 G1/8| ZEREMA| YJXY K| MI10x1,25| E@RINIT 435 505 R481624861
BERE | NEERL OEMICE
> aLLEE
&L
32 500 G1/8| Z=EBHT| IT/ZY K| MI0x1,25| BRMMIT 435 505 R481624862
BEmE| fEEAL OERICE
> ELLRE
EL
40 25 G1/4| ZER/HI| YTRY K| MI12x1,25| BRMIT 660 790 R481624863
BEERE| FEERL OERICE
> BLLEREE
el
40 50 G1/4| ZER/HA| YTV K| MI12x1,25| E@RINIT 660 790 R481624864
REREE | HEEAN OEMAICE
p% AL ILREE
L
40 80 G1/4| ZERMA| YTRY K| MI12x1,25| RBIIT 660 790 R481624865
BEmE | fEEAL OFERICE
g ALIEE
&L
40 100 G1/4| ZERHI| ITRY K| MI12x1,25| BRMIT 660 790 R481624866
B | NEERbL DEMRICE
> AL LR
eL
40 125 G1/4| Z=EBHA| IT/ZY K| MI12x1,25| BRRBMIT 660 790 R481624867
BEE | FEEAL OERICE
b4 AL ILE%
L
40 160 G1/4| ZERHA| YTV K| MI12x1,25| E@RNTT 660 790 R481624868
BT | NEERL OEMICE
> aLLREE
&L
40 200 G1/4| ZERHA| ITRY K| MI12x1,25| BRMIT 660 790 R481624869
BEE| fEEAL OEMRICE
> AL LEREE
eL

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 16
(1SO 6432) 2024-01-18

EZ b AhA—=2  HK-=b ERAN> ERAN XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
40 250 G1/4| ZER/HI| ITRY K| MI12x1,25| BRMIT 660 790 R481624870
B | NEERbL DEMRICE
> AL LR
el
40 320 G1/4| Z=EBHA| IT/ZY K| MI12x1,25| RBMIT 660 790 R481624871
BEE | fEEAL OERICE
b4 AL L%
L
40 400 G1/4| ZERHA| YTV K| MI12x1,25| E@RNTT 660 790 R481624872
BT | NEERL OEMAICE
> aLLREE
eL
40 500 G1/4| ZERHA| ITRY K| MI12x1,25| BRMIT 660 790 R481624873
BEE| fEEAL OERICE
> AL LR
eL
50 25 G1/4| ZEREHA| YTV b M16x1,5| BREMIT 1035 1235 R481624874
BEE | fEEAL DEMRICE
> ALLREE
L
50 50 G1/4| ZERMA| YITERY K M16x1,5| R&MIT 1035 1235 R481624875
BERE | NEERL OEMICE
> aLLEE
&L
50 80 G1/4| ZERHA| YITRY K M16x1,5| R&MIT 1035 1235 R481624876
BEmE| fEEAL OERICE
> ELLRE
EL
50 100 G1/4| ZERHA| YIRY b M16x1,5| R&EMIT 1035 1235 R481624877
BEERE| FEERL OERICE
> BLLEREE
el
50 125 G1/4| ZERMA| YTV b M16x1,5| BR&MIT 1035 1235 R481624878
REREE | HEEAN OEMAICE
p% AL ILREE
L
50 160 G1/4| ZERHA| YITRY K M16x1,5| BEMIT 1035 1235 R481624879
BEmE | fEEAL OFERICE
g ALIEE
&L
50 200 G1/4| ZERHA| YIRY b M16x1,5| R&EMIT 1035 1235 R481624880
B | NEERbL DEMRICE
> AL LR
eL
50 250 G1/4| ZERMA| YTERY b M16x1,5| REMIT 1035 1235 R481624881
BEE | FEEAL OERICE
b4 AL ILE%
L
50 320 G1/4| ZERMA| YIRY b M16x1,5| B&MIT 1035 1235 R481624882
BT | NEERL OEMICE
> aLLREE
&L
50 400 G1/4| ZERHA| YITRY b M16x1,5| R&EMIT 1035 1235 R481624883
BEE| fEEAL OEMRICE
> AL LEREE
eL

EMERSON.



AVENTICSCSL-RD U —X X2 U A — 17
(ISO 6432) 2024-01-18

EZ b ARA=Y  K-=h ERAN> EAR> XTUTILES
> o [mm] A AFE A HEE
[mm] [N] IN]
50 500 G1/4| ZERHA| YIRY K M16x1,5| R&EMIT 1035 1235 R481624884
B | NEERbL DEMRICE
> AL LR
el
63 25 G3/8| ZEHAMA| YIERY K M16x1,5| BREMIT 1765 1960 R481624885
BEE | fEEAL OERICE
b4 AL L%
L
63 50 G3/8| ZEHRMA| YIRVY K M16x1,5| BR&MIT 1765 1960 R481624886
BT | NEERL OEMAICE
> aLLREE
eL
63 80 G3/8| ZERHA| YIRY K M16x1,5| R&EMIT 1765 1960 R481624887
BEE| fEEAL OERICE
> AL LR
eL
63 100 G3/8| ZEHAMA| YIERY K M16x1,5| BREMIT 1765 1960 R481624888
BEE | fEEAL DEMRICE
> ALLREE
L
63 125 G3/8| ZESRMA| YIRVY K M16x1,5| R&MIT 1765 1960 R481624889
BERE | NEERL OEMICE
> aLLEE
&L
63 160 G3/8| ZERHA| YIRY K M16x1,5| R&MIT 1765 1960 R481624890
BEmE| fEEAL OERICE
> ELLRE
EL
63 200 G3/8| ZESRHA| YIRY K M16x1,5| R&EMIT 1765 1960 R481624891
BEERE| FEERL OERICE
> BLLEREE
el
63 250 G3/8| ZEMMA| YIRY K M16x1,5| BR&MIT 1765 1960 R481624892
REREE | HEEAN OEMAICE
> aLLREE
L
63 320 G3/8| ZEHRMA| YIRY K M16x1,5| BEMIT 1765 1960 R481624893
BEmE | fEEAL OFERICE
g ALIEE
&L
63 400 G3/8| ZERHA| YIRY K M16x1,5| R&EMIT 1765 1960 R481624894
B | NEERbL DEMRICE
> AL LR
eL
63 500 G3/8| ZEHAMA| YIRVY K M16x1,5| REMIT 1765 1960 R481624895
BEE | FEEAL OERICE
b4 AL ILE%
L

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 18
(ISO 6432) 2024-01-18
Y&
Cr SW 3 SW 3
SW 2
S s >
A e =11 e = RO s
S N 71 a
EW X KY @]
D WH L
AM
XC+S
ZN+S
M1 M2
=
= O L
cid—of He>1
- 3
Il _Ee EE
PB+S
S=2Z2k0O—7
EANY @ AM CD H9 CK &K D EE EWd13 KK KX KY L &/
16 16 6 19,5 22 M5 12 M6 10 3.2 9
20 20 8 23 28 G1/8 16 M8 13 4 12
25 22 8 25,5 33 G1/8 16 M10x1,25 17 5 12
32 22 10 28 38 G1/8 16 M10x1,25 17 5 14
40 24 12 36,5 49 G1/4 18 M12x1,25 18 6 16
50 32 16 40,5 57 G 1/4 21 M16x1,5 24 8 17
63 32 16 47 70 G3/8 21 M16x1,5 24 8 17
EANY @ M1 4 MM f8 MR PB #1 WH +1,4 XC #1 ZN 1 S SW2h13
16 21,2 22,7 6 16 436 75 82 94,7 20 5
20 257 27,7 8 18 48,6 8 95 109,7 24 6
25 28,2 29,7 10 19 51,8 9,5 104 119,7 28 8
32 34,6 1,7 12 - 46 8,9 17,5 129,5 35 10
40 38 8,7 16 - 66 10,8 139,6 153,5 45 13
50 42,1 8,3 20 - 68 1,7 147,2 163 53 17
63 45,3 9,4 20 - 71,5 1,7 155 171 66 17
16 2,5
20 2,5
25 2,5

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 19
(1SO 6432) 2024-01-18

EANY @ SW3
32

40

50

W W Wl w

63

EMERSON.



AVENTICS CSL-RD > —X

(ISO 6432)

n

20
2024-01-18

S ) A —, 2 1)—X CSL-RD

ISO 6432 IZET<
NS —E RIS —
¥REE
ERNITOERICES
ATEX THA7> 3>
N=23ary 22847
pag ]

NTZY MIZEERKNY
= ERS AR E
il

Mt U

BREHY ( FDANSF/EC No. 1935/2004 33T )

L7 B
EC NO 1935/2004

EANY @ ARkO—7 BRIEA N> EAN EANY EANY XTUT7ILES
[mm] [mm] ERL B ABE B HEmE
[N] [N]

32 25 G1/8| ZEREALE | YXTXY M M10x1,25 435 505 R481624918
B EEANY

32 50 G1/8| =EREGALE| <TXY Nt M10x1,25 435 505 R481624919
BE EERARNY

32 80 G1/8| =ERAEHHAE| ITXY N M10x1,25 435 505 R481624920
BE EEANY

32 100 G1/8| ZEREALE | YTXY M M10x1,25 435 505 R481624921
B EEANY

32 125 G1/8| =EREGALE| <TxY Nt M10x1,25 435 505 R481624922
wE EERANY

32 160 G1/8| ZERETLE | YTFRY MF M10x1,25 435 505 R481624923
BE EERARNY

32 200 G1/8| ZEREALE | YTRY M M10x1,25 435 505 R481624924
B EEANY

32 250 G1/8| ZEREALE | YTFY MT M10x1,25 435 505 R481624925
B EEANY

32 320 G1/8| BERHIRE| YTZY M M10x1,25 435 505 R481624926
BE EERANY

32 400 G1/8| ZEREBALE | YTZY M M10x1,25 435 505 R481624927
BE EEANY

32 500 G1/8| ZEREALE | YTFY M M10x1,25 435 505 R481624928
BE EEANY

40 25 G1/4| ZEREALE | XTRY MT M12x1,25 660 790 R481624929
BE EERANY

40 50 G1/4| =EREHALE| ITZY N M12x1,25 660 790 R481624930
BE EEANY

40 80 G1/4| ZEREAE | YTFY M M12x1,25 660 790 R481624931
B EEANY

40 100 G1/4| =EREGALE| <TxY N M12x1,25 660 790 R481624932
wE 1=

40 125 G1/4| =EREGALE | ITZY MM M12x1,25 660 790 R481624933
BE EERARNY

EMERSON.



AVENTICSCSL-RD U —X 23 & — 21
(ISO 6432) 2024-01-18
EANY @ ANO—7 R—k BRIEA N> EA K EANY EANY XTUT7ILES
[mm] [mm] ERL A ABE J HEmE
[N] [N]

40 160 G1/4| ZEREALE | XTxY ME M12x1,25 660 790 R481624934
B EEANY

40 200 G1/4| Z=EEFGHAEE | YNTXY MNMT M12x1,25 660 790 R481624935
BE EEANY

40 250 G1/4| BERAGHALE | ITXY N M12x1,25 660 790 R481624936
BE EEARY

40 320 G1/4| ZEREHAE | XTZY M M12x1,25 660 790 R481624937
B EEANY

40 400 G1/4| BERHIEE | XTXZY M M12x1,25 660 790 R481624938
EE EEANY

40 500 G1/4| BERHIURE | XTXY M M12x1,25 660 790 R481624939
BE EEANY

50 25 G1/4| ZEFRHMARE | YTV MM M16x1,5 1035 1235 R481624940
B EEANY

50 50 G1/4| ZEREALE | XTXY M M16x1,5 1035 1235 R481624941
e EEANY

50 80 G1/4| BERHIRE | YTXY M M16x1,5 1035 1235 R481624942
BE EEANY

50 100 G1/4| ZEREHALE | YTZY MMt M16x1,5 1035 1235 R481624943
BE EEANY

50 125 G1/4| ZEREHALE | XTxY M M16x1,5 1035 1235 R481624944
B EEANY

50 160 G1/4| =ERASGALE | <TxY Nt M16x1,5 1035 1235 R481624945
BE EEANY

50 200 G1/4| =ERASGHALE | ITXY N M16x1,5 1035 1235 R481624946
BE EEARY

50 250 G1/4| ZEREHALE | XTZY M M16x1,5 1035 1235 R481624947
B EEANY

50 320 G1/4| ZERHIEE | XTXZY M M16x1,5 1035 1235 R481624948
EE EEANY

50 400 G1/4| BERHIURE | XTXZY M M16x1,5 1035 1235 R481624949
BE EEANY

50 500 G1/4| ZEFRHMALE | YTV MM M16x1,5 1035 1235 R481624950
B EEANY

63 25 G3/8| ZEREHLE | XITxY MM M16x1,5 1765 1960 R481624951
e EEANY

63 50 G3/8| EERSHAE| ITXY Nt M16x1,5 1765 1960 R481624952
BE EEANY

63 80 G3/8| ZEREALE | YTxY MM M16x1,5 1765 1960 R481624953
BE EEANY

63 100 G3/8| ZEREALE | ¥ITxY MM M16x1,5 1765 1960 R481624954
B EEANY

63 125 G3/8| ZEEFGHHEE| YTXY N M16x1,5 1765 1960 R481624955
BE EEANY

63 160 G3/8| =ERAMAL| ITXY N M16x1,5 1765 1960 R481624956
BE EEARY

63 200 G3/8| ZEREALE | YITxY MME M16x1,5 1765 1960 R481624957
B EEANY

63 250 G3/8| ZERHIAE | YTXZY MT M16x1,5 1765 1960 R481624958
EE EEANY

4

od

EMERSON.



AVENTICSCSL-RD =X X =2 )5 —

(ISO 6432)

22

2024-01-18

63 320 G3/8| ZEREAEE | YITRY M M16x1,5 1765 1960 R481624959
B EEANY
63 400 G3/8| ZEEFGHHEE| YTXY MNMT M16x1,5 1765 1960 R481624960
BE EEANY
63 500 G3/8| ZEEFGHAEE| VTRV MNMT M16x1,5 1765 1960 R481624961
BE EEANY
3% (mm)
SW 2‘\ SW3 SW 3
I aEa: = IR =
(-
AM BF
WF
ZN + STROKE
KW PB + STROKE
KY M1 EE M2
:pqu
s
A e ol
S , i .
KX Kvﬁ
EANY @ AM BE BF CK &K D [E= KK KV KW KX
32 22 M30x1,5 25 28 38 G1/8 M10x1,25 36 8 17
40 24 M38x1,5 28 36,5 49 G1/4 M12x1,25 46 10 18
50 32 M45x1,5 32 40,5 57 G1/4 M16x1,5 55 10 24
63 32 M45x1,5 32 47 70 G 3/8 M16x1,5 55 10 24
EANY @ KY M1 M2 MM f8 PB %1 SW 1 SW 2 h13 SW 3 SW4 WF
32 5 9,5 14,2 12 46 35 10 3 24 34
40 6 9,8 13,3 16 66 45 13 3 30 39
50 8 9,8 12,6 20 68 53 17 3 34 44
63 8 13 14,5 20 71,5 66 17 3 34 44

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 23

(ISO 6432) 2024-01-18
EANY O ZN
32 104
40 128,2
50 134,5
63 143,2

EMERSON.



AVENTICS CSL-RD > —X

(ISO 6432)

n
[
\’l

24
2024-01-18

S ) A —, 2 1)—X CSL-RD

NI —EAR ) S —

¥REE
ERNITOERICES
ATEX THA 7> 3>
N—=23ay  EERALT
pag ]

NTZY MIZEERKNY
EEREFEIEE
il

Mt U

BREHY ( FDANSF/EC No. 1935/2004 23T )

L7 B
EC NO 1935/2004

EX K AkO—% EXN> EAR XTUTILES
> o [mm] A ABE D HEE
[mm] [N] IN]
16 25 M5 | ZEREHE| XIRY B M6| REMIT 109 127 R480651366
HEE | NEEAN OEMRICE
> ELLRE
eL
16 50 M5 | ZEEFREF| YIRY B M6| R@MIT 109 127 R480651367
HiEE | NEEAN OERICE
> BLLEREE
el
16 80 M5 | ZEFRENE| YIRY B M6| BR@IIT 109 127 R480651368
HiEE | NEEAN OERICE
> aLLEE
L
16 100 M5 | ZEREHE| XIRY B M6| REMIT 109 127 R480651369
HEE | NEEAN OFEMRICE
> BLLRE
el
16 125 M5 | ZEFBEF| YIRY B M6| R@MIT 109 127 R480651370
HiEE | NEEAN OEMRICE
> L LR
el
16 160 M5 | ZEFREEF| YITRY B M6| B@MIT 109 127 R480651371
HiEE | NHEEAD OERICE
b4 AL ILE%
&L
16 200 M5 | ZEREHE| YIRY B M6| REMIT 109 127 R480651372
HiE | NEEAN OFERICE
> aLLREE
&L
16 250 M5 | ZEEFBEF| YIRY N M6| R@MIT 109 127 R480651373
HEE | NEEAN OEMRICE
> AL LR
el
16 320 M5 | ZEEFREF| YIRY B M6| R@MIT 109 127 R480651374
HiEE | NEEAN OERICE
b4 &L ILE%
L

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 25
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]
16 400 M5 | ZEREE| XTIV B M6| BRMIMIT 109 127 R480651375
HiEE | HEERAL OFERICE
> ELLERE
(<R
16 500 M5 | ZEREE| XTXY b M6| RmIMIT 109 127 R480651376
HBE | FEEAN OFERAICHE
> ELIRE
[<A
20 25 G1/8| Z=EREE| YXTXY KN M8| REMIT 166 198 R480651377
HEEFH| FEERL OEMAICHE
> ALIREE
&L
20 50 G1/8| Z=EFRHE| YIXRY M8| EmIIT 166 198 R480651378
HiEE | HEERAL OFERICE
> ALERE
(<R
20 80 G1/8| ZERHE| YITXRY B M8| RmIMIT 166 198 R480651379
HiBE | FEERL OFERICE
> ELIERE
<4
20 100 G1/8| ZERHE| YITXRY B M8| EmMIT 166 198 R480651380
HEEH| FEERL OFEMAICHE
> ALIREE
&L
20 125 G1/8| Z=EREE| YXTxRY KN M8| EmIIT 166 198 R480651381
HIEE | FEERAS OERICE
> BLLRE
(<R
20 160 G1/8| Z=ERHE| YIXRY B M8| BMIMIT 166 198 R480651382
HiBE | HEERL OFERICE
> ELIERE
&L
20 200 G1/8| ZERHE| YITXRY B M8| BEmMIT 166 198 R480651383
hiEE | FEERL OFERAICE
> ELIRE
(<A
20 250 G1/8| Z=EREE| YXTXRY KN M8| EmIIT 166 198 R480651384
HiEE | HEERL OFEAICE
> ELERE
&L
20 320 G1/8| Z=EFRHE| YIXRY b M8| BRMIMIT 166 198 R480651385
HiEE | HEERL OFERICE
> ELLERE
&L
20 400 G1/8| ZERHE| YITXRY B M8| RmIMIT 166 198 R480651386
HBE | FEEAN OFERAICHE
> ELIRE
[<A
20 500 G1/8| Z=EREE| YXTXY KN M8| EmIIT 166 198 R480651387
HEEFH| FEERL OERAICHE
> ALIREE
&L
25 25 G1/8| Z=EFRHE| YIXRY M10x1,25| RE@MNIT 260 309 R480651388
HiBE | REERL OFERICE
> ALERE
(<A

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 26
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k EANS EANY XTUTILES
D', [mm] A AEE  HEEE
[mm] [N] [N]
25 50 G1/8| Z=EFRHE| YIXRY M10x1,25| BRMIT 260 309 R480651389
HiEE | HEERAL OFERICE
> ELLERE
(<R
25 80 G1/8| ZERHE| YITXRY B M10x1,25| RRMIT 260 309 R480651390
HBE | FEEAN OFERAICHE
> ELIRE
[<A
25 100 G1/8| Z=EREE| YXTXY KN M10x1,25| BRI T 260 309 R480651391
HEEFH| FEERL OEMAICHE
> ALIREE
&L
25 125 G1/8| Z=EFRHE| YIXRY M10x1,25| REmMNIT 260 309 R480651392
HiEE | HEERAL OFERICE
> ALERE
(<R
25 160 G1/8| ZERHE| YITXRY B M10x1,25| BRRMIT 260 309 R480651393
HiBE | FEERL OFERICE
> ELIERE
<4
25 200 G1/8| ZERHE| YITXRY B M10x1,25| B@mINIT 260 309 R480651394
HEEH| FEERL OFEMAICHE
> ALIREE
&L
25 250 G1/8| Z=EREE| YXTxRY KN M10x1,25| R@BMNIT 260 309 R480651395
HIEE | FEERAS DEAICE
> BLLRE
(<R
25 320 G1/8| Z=ERHE| YIXRY B M10x1,25| BRMIT 260 309 R480651396
HiBE | HEERL OFERICE
> ELIERE
&L
25 400 G1/8| ZERHE| YITXRY B M10x1,25| BRI T 260 309 R480651397
hiEE | FEERL OFERAICE
> ELIRE
(<A
25 500 G1/8| Z=EREE| YXTXRY KN M10x1,25| B@IMIT 260 309 R480651398
HiEE | HEERL OFEAICE
> ELERE
&L
32 25 G1/8| Z=EFRHE| YIXRY b M10x1,25| BRMIT 435 505 R481624786
HiEE | HEERL OFERICE
> ELLERE
&L
32 50 G1/8| ZERHE| YITXRY B M10x1,25| RRMIT 435 505 R481624787
HBE | FEEAN OFERAICHE
> ELIRE
[<A
32 80 G1/8| Z=EREE| YXTXY KN M10x1,25| B@RINIT 435 505 R481624788
HEEFH| FEERL OERAICHE
> ALIREE
&L
32 100 G1/8| Z=EFRHE| YIXRY M10x1,25| RE@MNIT 435 505 R481624789
HiBE | REERL OFERICE
> ALERE
(<A

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 27
(ISO 6432) 2024-01-18
EX b AhO—=72 R—h EAKN> EAKY XTUT7ILES
> o [mm] A AFE O HEE
[mm] [N] [N]
32 125 G1/8| ZERHE| XT=RY K M10x1,25| BmMIT 435 505 R481624790
KiBE | HEEAL OERICE
b% AL IRE
&L
32 160 G1/8| ZEFEE| YIT=RY K M10x1,25| BmMIT 435 505 R481624791
HiBE | HEEAN OERICHE
> ALIRE
&L
32 200 G1/8| ZEREE| YJXY N M10x1,25| BmMMIT 435 505 R481624792
HiBE | NEEADL OERICE
> ELIERE
L
32 250 G1/8| ZEREE| YIT=RY K M10x1,25| BEmITT 435 505 R481624793
KiBE | HEEARL OERICE
> ELLREE
&L
32 320 G1/8| ZEREE| YJXY N M10x1,25| BMmIIT 435 505 R481624794
*iBE | NEEADL OERICE
b AL k%
&L
32 400 G1/8| ZEREE| YJxXY N M10x1,25| BmIIT 435 505 R481624795
HiBE | NEEADL OERICE
> ELIERE
eL
32 500 G1/8| Z=EREHE| YIxRY B M10x1,25| BmMIT 435 505 R481624796
hiEE | FEEAL DO FERICE
> ELERE
&L
40 25 G1/4| ZEFEE| XT=RY K M12x1,25| BmMIT 660 790 R481624797
KiEE | NHEEADL OFERICE
p% AL IRE
&L
40 50 G1/4| ZEREE| YIZXY B M12x1,25| RRMMIT 660 790 R481624798
HimE | NEEARDL OERICE
> AL
&L
40 80 G1/4| ZEREE| YIJxXY N M12x1,25| BmMIT 660 790 R481624799
KiBE | HEERL OFERICE
> ALIRE
&L
40 100 G1/4| ZEFRHE| XT=RY K M12x1,25| BmMIT 660 790 R481624800
KiBE | HEEAL OERICE
b% AL IRE
&L
40 125 G1/4| ZEFEE| YT=RY K M12x1,25| BRI T 660 790 R481624801
HiBE | HEEAN OERICHE
> ALIRE
L
40 160 G1/4| ZEREE| YJxXY N M12x1,25| BmMMIT 660 790 R481624802
HiEE | NEEADL OERICE
> ELIERE
L
40 200 G1/4| ZEFREHE| XT=RY K M12x1,25| EmIIT 660 790 R481624803
KiBE | HEEARL OERICE
> ELLREE
&L

EMERSON.



AVENTICSCSL-RD > U—X 2= &— 28
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k EANS EANY
D', [mm] A AEE  HEEE
[mm]
40 250 G1/4| ZERHE| XTXRY B M12x1,25| BRMIT 660 790 R481624804
HiEE | FEERAL DOERICE
> ELIRE
(<R
40 320 G1/4| ZERHE| XTXRY B M12x1,25| RRMIT 660 790 R481624805
HiEE | FEERBN DERICE
> ELIRE
[<A
40 400 G1/4| ZERHE| XTRY B M12x1,25| B@BINIT 660 790 R481624806
HiBE | HEERL OEMRICE
> BLIERE
&L
40 500 G1/4| ZERHE| XTXRY B M12x1,25| BRMIT 660 790 R481624807
HiEE | FEERL DOERIZE
> ALERE
(<R
&
e SW2 L s
— \
. —\ WR
/S) 11
” \ g W — SN en & i
1 S m ” 1 om
~N : il D
= = ] S
EW KY BF L min
D | AM | wF
XC+S
ZN+S
M1 M2
=
: {
Lz N
EE EE
PB+S
S=XkO—%
EANY @ I\ BE BF CD H9 cK D EE EW d13 KK KV
16 10 M16x1,5 16 6 14,7 22 M5 12 M6 24
20 12 M22x1,5 18 8 17,9 28 G1/8 16 M8 32
25 16 M22x1,5 20 8 20,2 33 G18 16 M10x1,25 32
32 22 M30x1,5 25 10 215 38 G18 16 M10x1,25 36
40 24 M38x1,5 28 12 27 49 G1/4 18 M12x1,25 46

Q

&

EMERSON.




AVENTICSCSL-RD =X X =2 )5 — 29

(ISO 6432) 2024-01-18
EANY @ Kw KX KY L min M1 M2 MM f8 MR PB %1 VA
16 8 10 3.2 9 6,7 6,7 6 16 43,6 16
20 11 13 4 12 97 97 8 18 48,6 18
25 11 17 5 12 9,7 9,7 10 19 52,6 20
32 8 17 5 14 9,5 1,7 12 - 46 -
40 10 18 6 16 9,8 8,7 16 - 66 -
EARY @ WF14 XC #1 ZN £ 1 SW 1 SwW 2
16 22 82 94,7 20 5
20 24 95 109,7 24 6
25 28 104 119,7 28 8
32 34 17,5 129,5 35 10
40 39 139,6 153,58 45 13

EMERSON.



AVENTICS CSL-RD > —X

(ISO 6432)

n
[
\’l

30
2024-01-18

S ) A —, 2 1)—X CSL-RD

MR YR —ERAFI I —
¥ERER
ERNITOERICES

ATEX THT>3a>

N—2 32 HENKRRE

Frfl

NTZY MIZEERKNY
ZZERETE K AR E

HRl

it U

L7 B
EC NO 1935/2004

BREHY ( FDANSF/EC No. 1935/2004 23T )

EAN  AhO—2  R—h ZOL—/N EARY  ERARY  IFUTLES
> o [mm] AABE O HEE
(mm] IN] IN]
16 25 M5| ZEREE| YITRY N M6 | THEAMER D 109 127 R480651399
HEm| HEEAN L—/%
>
16 50 M5| ZERENE| YXTXRY KN M6 | THEAMERD 109 127 R480651400
HEE | HEERN L—/%
>
16 80 M5 | ZEEREE| XIxRY N M6 | THEMERD 109 127 R480651401
HEE| HEEAN L—/%
>
16 100 M5 | ZEREHE| IRV KN M6 | THEAMER D 109 127 R480651402
HEm| HEEAN L—/%
>
16 125 M5| ZERENE| YTXRY KN M6 | THEAMERD 109 127 R480651403
HEE | HEERN L—/%
>
16 160 M5 | ZEEREE| XIxY N M6 | THEAMERD 109 127 R480651404
LEE| HEEAN L—/%
>
16 200 M5 | ZEEREE| XIxRY KN M6 | THEAMEAR D 109 127 R480651405
HEE| HEEAN L—/%
>
16 250 M5| ZEREE| YIRY KN M6 | THEMERD 109 127 R480651406
HEE | HEERN L—/%
>
16 320 M5 | ZEEREE| XIxY N M6 | THEAMERD 109 127 R480651407
HEE| HECAN L—/%
>
16 400 M5 | ZEEREE| XIxRY KN M6 | THEAMER D 109 127 R480651408
HEE| HEEAN L—/%
>
16 500 M5| ZEREE| YITRY N M6 | THEAMER D 109 127 R480651409
HEm| HEEAN L—/%
>
20 25 G1/8| ZEREE| YITXRY KN M8 | THEAMERD 166 198 R480651410
HEE | HEERN L—/%
>

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 31
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY XTUTILES
D', [mm] A AEE  HEEE
[mm] [N] [N]
20 50 G1/8| Z=EFRHE| YIXRY M8 | THEERY 166 198 R480651411
HiEE | HEERAL L—X
>
20 80 G1/8| ZERHE| YITXRY B M8 | THEER D 166 198 R480651412
HBE | FEERL L—N
>
20 100 G1/8| Z=EREE| YXTXY KN M8 | THEMERD 166 198 R480651413
HEEFH| FEERL L—N
>
20 125 G1/8| Z=EFRHE| YXIXRY M8 | THEAtER D 166 198 R480651414
HiEE | FEERAL L—N
>
20 160 G1/8| ZERHE| YITXRY B M8 | THEER D 166 198 R480651415
HiBE | FEERL L—N
>
20 200 G1/8| ZERHE| YITXRY B M8 | TEER D 166 198 R480651416
HEEH| FEERL L—N
>
20 250 G1/8| Z=EREE| YXTxRY KN M8 | THEAtER D 166 198 R480651417
HiEE | FEERAL L—N
>
20 320 G1/8| Z=ERHE| YIXRY M8 | THEER Y 166 198 R480651418
HiBE | HEERL L—N
>
20 400 G1/8| ZERHE| YITXRY B M8 | TEER D 166 198 R480651419
hiEE | FEERL L—N
>
20 500 G1/8| Z=EREE| YXTXY KN M8 | THEtER D 166 198 R480651420
HiEE | FEERL L—N
>
25 25 G1/8| Z=EFRHE| YIXRY M10x1,25| THEMERD 260 309 R480651421
HiEE | HEERL L—/X
>
25 50 G1/8| ZERHE| YITXRY B M10x1,25| THEMERD 260 309 R480651422
HBE | FEERL L—N
>
25 80 G1/8| Z=EREE| YXTXY KN M10x1,25 | THEMEAD 260 309 R480651423
HEEFH| FEERL L—N
>
25 100 G1/8| Z=EFRHE| YIXRY M10x1,25 | TEMER D 260 309 R480651424
HiEE | FEERAL L—N
>
25 125 G1/8| ZERHE| YITXRY B M10x1,25| THEMERD 260 309 R480651425
HiBE | FEERL L—N
>
25 160 G1/8| ZERHE| YITXRY B M10x1,25| THEMRD 260 309 R480651426
HEEH| FEERL L—N
>
25 200 G1/8| Z=EREE| YXTxRY KN M10x1,25 | TEMER D 260 309 R480651427
HiEE | FEERAL L—N
>
25 250 G1/8| Z=ERHE| YIXRY B M10x1,25| THEMRD 260 309 R480651428
HiBE | HEERL L—N
>

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 32
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY XTUTILES
D', [mm] A AEE  HEEE
[mm] [N] [N]
25 320 G1/8| Z=EFRHE| YIXRY M10x1,25| THEMERD 260 309 R480651429
HiEE | HEERAL L—X
>
25 400 G1/8| ZERHE| YITXRY B M10x1,25| THEMERD 260 309 R480651430
HBE | FEERL L—N
>
25 500 G1/8| Z=EREE| YXTXY KN M10x1,25 | THEMEAD 260 309 R480651431
HEEFH| FEERL L—N
>
32 25 G1/8| Z=EFRHE| YXIXRY M10x1,25 | TEMER D 435 505 R481624896
HiEE | FEERAL L—N
>
32 50 G18| ZEBEHR| ITZYN| MI0x125| THEHERY 435 505 RA481624897
HiBE | FEERL L—N
>
32 80 G1/8| ZERHE| YITXRY B M10x1,25| THEMRD 435 505 R481624898
HEEH| FEERL L—N
>
32 100 G1/8| Z=EREE| YXTxRY KN M10x1,25 | TEMER D 435 505 R481624899
HiEE | FEERAL L—N
>
32 125 G1/8| Z=ERHE| YIXRY M10x1,25| THEMRD 435 505 R481624900
HiBE | HEERL L—N
>
32 160 G1/8| ZERHE| YITXRY B M10x1,25| THEMERD 435 505 R481624901
hiEE | FEERL L—N
>
32 200 G1/8| Z=EREE| YXTXY KN M10x1,25 | TEMER D 435 505 R481624902
HiEE | FEERL L—N
>
32 250 G1/8| Z=EFRHE| YIXRY M10x1,25| THEMERD 435 505 R481624903
HiEE | HEERL L—/X
>
32 320 G1/8| ZERHE| YITXRY B M10x1,25| THEMERD 435 505 R481624904
HBE | FEERL L—N
>
32 400 G1/8| Z=EREE| YXTXY KN M10x1,25 | THEMEAD 435 505 R481624905
HEEFH| FEERL L—N
>
32 500 G1/8| Z=EFRHE| YIXRY M10x1,25 | TEMER D 435 505 R481624906
HiEE | FEERAL L—N
>
40 25 G1/4| ZEREE| YXTXY KN M12x1,25| THEMERD 660 790 R481624907
HiBE | FEERL L—N
>
40 50 G1/4| ZERHE| XTXRY B M12x1,25 | THEMR D 660 790 R481624908
HEEH| FEERL L—N
>
40 80 G1/4| Z=EREE| XTxRY BN M12x1,25 | THEMER D 660 790 R481624909
HiEE | FEERAL L—N
>
40 100 G1/4| ZERHE| XTXRY B M12x1,25| THEMRD 660 790 R481624910
HiBE | HEERL L—N
>

EMERSON.



AVENTICSCSL-RD U—X X Z2 U H— 33
(ISO 6432) 2024-01-18
EAK AbO—72 R—b EAKN> EARNY XTUTILES

> o [mm] A AFE O HEE
[mm] [N] [N]
40 125 G1/4| ZEREE| YIZXY N M12x1,25 | THEMR D 660 790 R481624911
hiEE | FEEAR L—N
>
40 160 G1/4| ZEREE| YJXY R M12x1,25 | THEMER D 660 790 R481624912
hiEE | FEERL L—N
>
40 200 G1/4| ZEREE| YJxXY B M12x1,25| THEMERAD 660 790 R481624913
HiBE | HEEAN A
>
40 250 G1/4| ZEREE| YIXY N M12x1,25| THEMERAD 660 790 R481624914
hiEE | FEEAL L—N
>
40 320 G1/4| ZEREE| YJXY N M12x1,25 | THEMR D 660 790 R481624915
hiEE | FEERL L—N
>
40 400 G1/4| ZEREE| YJxXY N M12x1,25 | TREMER D 660 790 R481624916
HiBE | FEEAN A
>
40 500 G1/4| ZEREE| YIXY N M12x1,25| THEMERD 660 790 R481624917
hiEE | FEEAL L—N
>
ik
&
2§ SW 2 . LS
S v X S >
I e
A g B 1 a
EW <Ky @
D WH L min
AM
XC+S
ZN+S
M1 M2
= -
= T ] ]
chtof {le>k
\ i S
I EE EE
PB+S !
Ss=2Z2k0O—7

EANY @

AM-2

14,7

22

M5

M6

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 34

(ISO 6432) 2024-01-18
EANY @ AM-2 CD H9 CK D EE EW d13 KK KX KY L min
20 20 8 17,9 28 G1/8 16 M8 13 4 12
25 22 8 20,2 33 G1/8 16 M10x1,25 17 5 12
32 22 10 21,5 38 G1/8 16 M10x1,25 17 5 14
40 24 12 27 49 G1/4 18 M12x1,25 18 6 16
WH %1,2
16 21,2 22,7 6 16 436 75 82 94,7 20 5
20 25,7 27,7 8 18 48,6 8 95 109,7 24 6
25 28,2 29,7 10 19 51,8 9,5 104 119,7 28 8
32 34,6 1,7 12 46 8,9 117,5 129,5 35 10
40 38 8,7 16 66 10,8 139,6 153,5 45 13

EMERSON.




AVENTICS CSL-RD > —X

(ISO 6432)

n

35
2024-01-18

S ) A —, 2 1)—X CSL-RD

NS YU —ERFEI I —
¥REE
ERNITOERICES
ATEX THA 7> 3>

N=23ary 22847

pag ]

NTZY MIZEERKNY
EEREFEIEE

il

Mt U

BREHY ( FDANSF/EC No. 1935/2004 23T )

L7 B
EC NO 1935/2004

EANY @ AbMO—7 R— K BEHEARNY EA B EANY EANY XTUTILES
[mm] [mm] ERU A AAE B HAmE
[N] [N]

32 25 G1/8| ZEFREEHXR | YTV N M10x1,25 435 505 R481624962
B EEANY

32 50 G1/8| BEREHFEHR | NTXY M M10x1,25 435 505 R481624963
B EEANY

32 80 G1/8| BERHEHXR | YTXY M M10x1,25 435 505 R481624964
BE EEANY

32 100 G1/8| ZEREER | YTRY M M10x1,25 435 505 R481624965
BE EEANY

32 125 G1/8| ZEREER | XTFRY M M10x1,25 435 505 R481624966
BE EEANY

32 160 G1/8| BTEREEHR | XTXY Nt M10x1,25 435 505 R481624967
BE EEANY

32 200 G1/8| ZEREHEHR | NTXY M M10x1,25 435 505 R481624968
BE EEARY

32 250 G1/8| ZBEREER | XTRY M M10x1,25 435 505 R481624969
B EEANY

32 320 G1/8| ZTEREEXR | XTXY Nt M10x1,25 435 505 R481624970
wE EEANY

32 400 G1/8| ZEREEHR | XTFRY MF M10x1,25 435 505 R481624971
BE EEANY

32 500 G1/8| ZBEREER | YTRY M M10x1,25 435 505 R481624972
B EEAMY

40 25 G1/4| ZBEREHFEHR | NTxY M M12x1,25 660 790 R481624973
B EEANY

40 50 G1/4| BERHEHXR | XTZY M M12x1,25 660 790 R481624974
BE EEANY

40 80 G1/4| ZEFREHEHXR | YTV RME M12x1,25 660 790 R481624975
BE EEARNY

40 100 G1/4| ZBERHFEHR | NTxY M M12x1,25 660 790 R481624976
B EEANY

40 125 G1/4| ZEREEHR | XTFRY MF M12x1,25 660 790 R481624977
BE EEANY

EMERSON.



AVENTICSCSL-RD > —X 2= ) H— 36
(ISO 6432) 2024-01-18
EANY @ AKO—2 EAN EANY
[mm] [mm] ERL A ABE
[N]
40 160 G1/4| BERHFEHR | NTxY M M12x1,25 660 790 R481624978
BE EEANY
40 200 G1/4| BERWEXR | XTxY "M M12x1,25 660 790 R481624979
BE EEANY
40 250 G1/4| BERWEXR | XTZY MM M12x1,25 660 790 R481624980
BE EEANY
40 320 G1/4| ZBERHFEHR | NTZY M M12x1,25 660 790 R481624981
BrE EEANY
40 400 G1/4| BERWEXR | XTZY "M M12x1,25 660 790 R481624982
EE| ZEARY
40 500 G1/4| BERHEHXR | XTEY M M12x1,25 660 790 R481624983
BE EEANY
& (mm)
SW 2
— (@) (@)
I nEa] = | R | —— |
AM BF
WF
ZN+S
Kw_
PB+S
KY M1 EE M2
= ~
R O O}
] S S
KX KV J
S=ARO—%
53E (mm)
EARY @ AM BE BF CK 2D EE KK KV KW KX
32 22 M30x1,5 25 21,5 38 G1/8 M10x1,25 36 8 17
40 24 M38x1,5 28 27 49 G1/4 M12x1,25 46 10 18
EARNY @ % M1 M2 MM PB SW1 SW2 Sw4 WF ZN
32 5 9,5 14,2 12 46 35 10 24 34 104

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 37

(ISO 6432) 2024-01-18
EANY @ KY M1 M2 MM PB SW1 SwW2 Sw4 WF ZN
40 6 9,8 13,3 16 66 45 13 30 39 128,2
Q

EMERSON.



AVENTICS CSL-RD > —X

(ISO 6432)

n
[
\’l

38
2024-01-18

S ) A —, 2 1)—X CSL-RD

NS YU —ERFEI I —
¥REE
ERNITOERICES
ATEX THA 7> 3>

N—=23ay  EERALT

pag ]

NTZY MIZEERKNY
MG

il

Mt U

BREHY ( FDANSF/EC No. 1935/2004 23T )

L7 B
EC NO 1935/2004

I[—

EX K AkO-=2  K-=b EXN> EAR> XTUTILES
> o [mm] A ABE A HEE
[mm] [N] IN]
16 25 M5 | MRS | YIRV b M6| REMIT 109 127 R412020398
HEER K OERICE
> BLLRE
el
16 50 M5 | MRS YIRY b M6| R@MIT 109 127 R412020399
HEER K OEMRICE
> BLLEREE
eL
16 80 M5 | S| YIERY b M6| BR@MIT 109 127 R412020400
HEEZ K OERICE
b4 AL ILEE
L
16 100 M5 | MRS | YIRY b M6| REMIT 109 127 R412020401
HEERA N OFERICE
> aLLREE
eL
16 125 M5 | MRS | YIRV b M6| R@MIT 109 127 R412020402
FEER K OERICE
> BLLEREE
el
16 160 M5|  EMRE| YIRV b M6| R@MIT 109 127 R412020403
HEEZ R OERICE
b4 AL L%
L
16 200 M5 | MRS | YIXRY B M6| REMIT 109 127 R412020404
HEEA N OEMICE
> aLLREE
L
16 250 M5 | MRS | YIRV b M6| REMIT 109 127 R412020405
HEER K OERICE
> AL LR
EL
16 320 M5 | MRS YIRY b M6| R@MIT 109 127 R412020406
HEERK OERICE
> AL LIRS
el
16 400 M5 |  EMEEE | YIXRY B M6| REMIT 109 127 R412020407
HFEEAN OEMICE
>

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 39
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]
16 500 M5 HMEE | YUXY N M6| BmIMIT 109 127 R412020408
FEEAK OFERICE
> ELIERE
&L
20 25 G 1/8 BUEE | YRV M8| BEmMIT 166 198 R412020442
FEEAN DEMAICE
> ALIREE
(<A
20 50 G 1/8 BMEEE | YRV M8| EmIIT 166 198 R412020443
FEEAR OFEMRICE
> ELERE
&L
20 80 G 1/8 HMEE | YUXY N M8| BRMIMIT 166 198 R412020444
FEEAK OFERICE
> ELIERE
(<R
20 100 G 1/8 EUEE | YIXRYBN M8| RmIMIT 166 198 R412020445
fEEA N OFERAICHE
> ELIRE
[<A
20 125 G 1/8 HEEE | YIXRYKN M8| EmIIT 166 198 R412020446
FEEA N OFEMAICE
> ALIREE
&L
20 160 G1/8 BUEE | YIXRYKN M8| BRMINIT 166 198 R412020447
FEEA N OFERICE
> ALERE
el
20 200 G 1/8 HMEE | YUXY R M8| RmIMIT 166 198 R412020448
fEEA N OFERICE
> ELIERE
(<4
20 250 G 1/8 BUEE | YRV M8| EmIMIT 166 198 R412020449
FEEAN DEAICE
> ALIREE
&L
20 320 G 1/8 BUEE | YIXRYKN M8| EmIIT 166 198 R412020450
HEEAN DOERICE
> BLLRE
(<R
20 400 G 1/8 HMEE | YUXY N M8| BMMMIT 166 198 R412020451
FEEAK OFERICE
> ELIERE
&L
20 500 G 1/8 BUEE | YIXRYBN M8| BEmIMIT 166 198 R412020452
FEEAN DEMAICE
> ALIREE
(<A
25 25 G 1/8 HMEEE | YRV M10x1,25| B@IMIT 260 309 R412020486
FEEAR OFEMRICE
> ELERE
&L
25 50 G1/8 BUEE | YIXRYKN M10x1,25| BRMMIT 260 309 R412020487
FEEAR OFERICE
> ELIERE
(<R

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 40
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k EANS EANY XTUTILES
D', [mm] A AEE  HEEE
[mm] [N] [N]

25 80 G 1/8 EUEE | YIXRYHN M10x1,25| BRMIT 260 309 R412020488
FEEAK OFERICE
> ELLERE
(<R

25 100 G1/8 BUEE | YIXRYBN M10x1,25| RRMIT 260 309 R412020489
fEEA N OFERAICHE
> ELIRE
[<A

25 125 G 1/8 BUEE | YITXRYB M10x1,25| BRI T 260 309 R412020490
FEEA N OEMAICHE
> ALIREE
&L

25 160 G1/8 BUEE | YIXRYKN M10x1,25| REmMNIT 260 309 R412020491
FEEA K OFERICE
> ALERE
(<R

25 200 G18| WHEE| ITZYN| M10x125| ARMIT 260 309 R412020492
fEEA N OFERICE
> ELIERE
<4

25 250 G 1/8 BUEE | YITXRYBN M10x1,25| B@mINIT 260 309 R412020493
FEEAN DEAICE
> ALIREE
&L

25 320 G 1/8 HMEEE | YRV M10x1,25| R@BMNIT 260 309 R412020494
FEEA N DEAICE
> BLLRE
(<R

25 400 G 1/8 BUEE | YRV N M10x1,25| BRMIT 260 309 R412020495
FEEA K OFERICE
> ELIERE
&L

25 500 G 1/8 BUEE | YIXRYBN M10x1,25| BRI T 260 309 R412020496
FEEAN DEMAICE
> ELIRE
(<A

32 25 G 1/8 HMEEE | YITXRYBN M10x1,25| B@IMIT 435 505 R481624698
FEEAR OFEAICE
> ELERE
&L

32 50 G 1/8 BUEE | YRV KN M10x1,25| BRMIT 435 505 R481624699
FEEAK OFERICE
> ELLERE
&L

32 80 G 1/8 EUEE | YIXRY BN M10x1,25| RRMIT 435 505 R481624700
fEEA N OFERAICHE
> ELIRE
[<A

32 100 G 1/8 BUEE| YITXRYB M10x1,25| B@RINIT 435 505 R481624701
FEEA N OERAICHE
> ALIREE
&L

32 125 G1/8 BURE | YIXRYKN M10x1,25| RE@MNIT 435 505 R481624702
FEEAK OFERICE
> ALERE
(<A

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 41
(ISO 6432) 2024-01-18
EX b AhO—=72 R—h EAK> EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]
32 160 G1/8 BMEE | YIRYbN M10x1,25| BmMIT 435 505 R481624703
HEERN OERICE
b% AL IRE
&L
32 200 G1/8 BMEE | YIXRYbA M10x1,25| BmMIT 435 505 R481624704
HEEAN OERICHE
> ALIRE
&L
32 250 G1/8 HMEE | YJXY N M10x1,25| BmMMIT 435 505 R481624705
HEEAN OERICE
> ELIERE
L
32 320 G1/8 HMEE | YIRYN M10x1,25| BEmITT 435 505 R481624706
HFEERN OERICE
> ELLREE
&L
32 400 G1/8 BUEE | YIxYA M10x1,25| BMmIIT 435 505 R481624707
HEEAN OERICE
b AL k%
&L
32 500 G1/8 HMEE | YUXY N M10x1,25| BmIIT 435 505 R481624708
REEAN DFERAICIE
> ELIERE
eL
40 25 G1/4 HMEE | YJXY N M12x1,25| BmMIT 660 790 R481624709
FEEAR DO FERICE
> ELERE
&L
40 50 G 1/4 BMEE | YIRYbN M12x1,25| BmMIT 660 790 R481624710
HEERL OFERICE
p% AL IRE
&L
40 80 G 1/4 BMEE | YIRY N M12x1,25| RRMMIT 660 790 R481624711
FEEA N OFERAICE
> AL
&L
40 100 G 1/4 HMEE | YJXY N M12x1,25| BmMIT 660 790 R481624712
FEERL OFERICE
> ALIRE
&L
40 125 G 1/4 BMEE | YIXRYbN M12x1,25| BmMIT 660 790 R481624713
HEERN OERICE
b% AL IRE
&L
40 160 G 1/4 BMEE | YIRY A M12x1,25| BmMIT 660 790 R481624714
HEEAN OERICHE
> ALIRE
L
40 200 G 1/4 HMEE | YJXY N M12x1,25| BmMMIT 660 790 R481624715
HEEAR OERICE
> ELIERE
L
40 250 G 1/4 HMEE | YIRYN M12x1,25| EmIIT 660 790 R481624716
HFEEARN OERICE
> ELLREE
&L

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 42
(ISO 6432) 2024-01-18
EX b AhO—=72 R—h EAK> EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]
40 320 G 1/4 BMEE | YIRYbN M12x1,25| BmMIT 660 790 R481624717
HEERN OERICE
b% AL IRE
&L
40 400 G 1/4 BMEE | YIXRYbA M12x1,25| BEmMIT 660 790 R481624718
HEEAN OERICHE
> ALIRE
&L
40 500 G 1/4 HMEE | YJXY N M12x1,25| BmMMIT 660 790 R481624719
HEEAN OERICE
> ELIERE
L
50 25 G 1/4 HMEE | YIRYN M16x1,5| BEMITIT 1035 1235 R481624720
HFEERN OERICE
> ELLREE
&L
50 50 G 1/4 BUEE | YIxYA M16x1,5| RBIIT 1035 1235 R481624721
HEEAN OERICE
b AL k%
&L
50 80 G 1/4 BMEE | YIXRYN M16x1,5| BmINIT 1035 1235 R481624722
REEAN DFERAICIE
> ELIERE
eL
50 100 G1/4 HMEE | YJXY N M16x1,5| BEMIWIT 1035 1235 R481624723
FEEAR DO FERICE
> ELERE
&L
50 125 G 1/4 BMEE | YIRYbN M16x1,5| E@MIT 1035 1235 R481624724
HEERL OFERICE
p% AL IRE
&L
50 160 G 1/4 BMEE | YIRY N M16x1,5| B@RMIT 1035 1235 R481624725
FEEA N OFERAICE
> AL
&L
50 200 G 1/4 HMEE | YJXY N M16x1,5| EmMINIT 1035 1235 R481624726
FEERL OFERICE
> ALIRE
&L
50 250 G 1/4 BMEE | YIXRYbN M16x1,5| BERMIT 1035 1235 R481624727
HEERN OERICE
b% AL IRE
&L
50 320 G 1/4 BMEE | YIRY A M16x1,5| RMINIT 1035 1235 R481624728
HEEAN OERICHE
> ALIRE
L
50 400 G 1/4 HMEE | YJXY N M16x1,5| BRMIT 1035 1235 R481624729
HEEAR OERICE
> ELIERE
L
50 500 G 1/4 HMEE | YIRYN M16x1,5| BEMITIT 1035 1235 R481624730
HFEEARN OERICE
> ELLREE
&L

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 43
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]
63 25 G 3/8 EUEE | YIXRYHN M16x1,5| BRMIT 1765 1960 R481624731
FEEAK OFERICE
> ELLERE
(<R
63 50 G 3/8 BUEE | YIXRYBN M16x1,5| BR@RMIT 1765 1960 R481624732
fEEA N OFERAICHE
> ELIRE
[<A
63 80 G 3/8 BUEE | YITXRYB M16x1,5| BRI T 1765 1960 R481624733
FEEA N OEMAICHE
> ALIREE
&L
63 100 G 3/8 BUEE | YIXRYKN M16x1,5| BRMIT 1765 1960 R481624734
FEEA K OFERICE
> ALERE
(<R
63 125 G 3/8 HMEE | YUXY N M16x1,5| BRRMIT 1765 1960 R481624735
fEEA N OFERICE
> ELIERE
<4
63 160 G 3/8 BUEE | YITXRYBN M16x1,5| BmINIT 1765 1960 R481624736
FEEAN DEAICE
> ALIREE
&L
63 200 G 3/8 BURE | YIXRYN M16x1,5| BRI T 1765 1960 R481624737
FEEA N OERICE
> BLLRE
(<R
63 250 G 3/8 BUEE | YRV N M16x1,5| BRMIT 1765 1960 R481624738
FEEA K OFERICE
> ELIERE
&L
63 320 G 3/8 BUEE | YIXRYBN M16x1,5| BRIMNIT 1765 1960 R481624739
FEEAN DEMAICE
> ALIREE
(<A
63 400 G 3/8 HMEEE | YITXRYBN M16x1,5| BRI T 1765 1960 R481624740
FEEAR OFEAICE
> ELERE
&L
63 500 G 3/8 BUEE | YRV KN M16x1,5| BRMIT 1765 1960 R481624741
FEEAK OFERICE
> ELLERE
&L

EMERSON.



AVENTICSCSL-RD 2 U—X 2=V &— 44
(ISO 6432) 2024-01-18
ik
D SW 2 KW
ANISH
) EE ==t —
# § L)
EW KY BF
|am|_wr
XC+S
ZN+S
M1 M2
= |
G | E— it
EE EE
! PB+S
.
s=ahkO—%
EALNY @ AM BE BF CD H9 D 53 EW d13 KK KV Kw
16 16 M16x1,5 16 6 22 M5 12 M6 24 8
20 20 M22x1,5 18 8 28 G118 16 YE 32 11
25 22 M22x1,5 20 8 33 G118 16 M10x1,25 32 11
32 22 M30x1,5 25 10 38 G1/8 16 M10x1,25 36 8
40 24 M38x1,5 28 12 49 G1/4 18 M12x1,25 46 10
50 32 M45x1,5 32 16 57 G1/4 21 M16x1,25 55 10
63 32 M45x1,5 32 16 70 G318 21 M16x1,25 55 10
EALNY @ KX KY L min M1 M2 MM f8 MR PB %1 VA WF £1,4
16 10 3,2 9 6,7 6,7 6 16 43,6 16 22
20 13 4 12 9,7 9,7 8 18 48,6 18 24
25 17 5 12 97 97 10 19 52,6 20 28
32 17 5 14 9,5 11,7 12 - 46 - 34
40 18 6 16 9,8 8,7 16 - 66 - 39
50 24 8 17 9,8 8,3 20 - 68 - 44
63 24 8 17 13 9,3 20 - 71,5 - 44
ERARY @ XC ZN 1 SW 1 SW 2
16 82 94,7 20 5
20 95 109,7 24 6
25 104 119,7 28 8

EMERSON.




AVENTICSCSL-RD > U—X X Z2 )8 — 45
(ISO 6432) 2024-01-18
EANY @ XC 1 ZN *1 S S
32 17,5 129,5 35 10
40 139,6 153,5 45 13
50 147,2 163 53 17
63 155 171 66 17

EMERSON.



AVENTICS CSL-RD > —X

(ISO 6432)

n
[
\’l

46
2024-01-18

S ) A —, 2 1)—X CSL-RD

MR YR —ERAFI I —
¥ERER
ERNITOERICES

ATEX THT>3a>

N—2 32 HENKRRE

Frfl

NTZY MIZEERKNY
MR

HRl

it U

BREHY ( FDANSF/EC No. 1935/2004 23T )

L7 B
EC NO 1935/2004

I[—

EX K AkO-=2  K-=b EXN> EAR> XTUTILES
> o [mm] A ABE A HEE
[mm] [N] IN]
16 25 M5 | MRS | YIRV b M6| REMIT 109 127 R412020420
HEER K OERICE
> BLLRE
el
16 50 M5 | MRS YIRY b M6| R@MIT 109 127 R412020421
HEER K OEMRICE
> BLLEREE
eL
16 80 M5 | S| YIERY b M6| BR@MIT 109 127 R412020422
HEEZ K OERICE
b4 AL ILEE
L
16 100 M5 | MRS | YIRY b M6| REMIT 109 127 R412020423
HEERA N OFERICE
> aLLREE
eL
16 125 M5 | MRS | YIRV b M6| R@MIT 109 127 R412020424
FEER K OERICE
> BLLEREE
el
16 160 M5|  EMRE| YIRV b M6| R@MIT 109 127 R412020425
HEEZ R OERICE
b4 AL L%
L
16 200 M5 | MRS | YIXRY B M6| REMIT 109 127 R412020426
HEEA N OEMICE
> aLLREE
L
16 250 M5 | MRS | YIRV b M6| REMIT 109 127 R412020427
HEER K OERICE
> AL LR
EL
16 320 M5 | MRS YIRY b M6| R@MIT 109 127 R412020428
HEERK OERICE
> AL LIRS
el
16 400 M5 |  EMEEE | YIXRY B M6| REMIT 109 127 R412020429
HFEEAN OEMICE
>

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 47
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]
16 500 M5 HMEE | YUXY N M6| BmIMIT 109 127 R412020430
FEEAK OFERICE
> ELIERE
&L
20 25 G 1/8 BUEE | YRV M8| BEmMIT 166 198 R412020464
FEEAN DEMAICE
> ALIREE
(<A
20 50 G 1/8 BMEEE | YRV M8| EmIIT 166 198 R412020465
FEEAR OFEMRICE
> ELERE
&L
20 80 G 1/8 HMEE | YUXY N M8| BRMIMIT 166 198 R412020466
FEEAK OFERICE
> ELIERE
(<R
20 100 G 1/8 EUEE | YIXRYBN M8| RmIMIT 166 198 R412020467
fEEA N OFERAICHE
> ELIRE
[<A
20 125 G 1/8 HEEE | YIXRYKN M8| EmIIT 166 198 R412020468
FEEA N OFEMAICE
> ALIREE
&L
20 160 G1/8 BUEE | YIXRYKN M8| BRMINIT 166 198 R412020469
FEEA N OFERICE
> ALERE
el
20 200 G 1/8 HMEE | YUXY R M8| RmIMIT 166 198 R412020470
fEEA N OFERICE
> ELIERE
(<4
20 250 G 1/8 BUEE | YRV M8| EmIMIT 166 198 R412020471
FEEAN DEAICE
> ALIREE
&L
20 320 G 1/8 BUEE | YIXRYKN M8| EmIIT 166 198 R412020472
HEEAN DOERICE
> BLLRE
(<R
20 400 G 1/8 HMEE | YUXY N M8| BMMMIT 166 198 R412020473
FEEAK OFERICE
> ELIERE
&L
20 500 G 1/8 BUEE | YIXRYBN M8| BEmIMIT 166 198 R412020474
FEEAN DEMAICE
> ALIREE
(<A
25 25 G 1/8 HMEEE | YRV M10x1,25| B@IMIT 260 309 R412020508
FEEAR OFEMRICE
> ELERE
&L
25 50 G1/8 BUEE | YIXRYKN M10x1,25| BRMMIT 260 309 R412020509
FEEAR OFERICE
> ELIERE
(<R

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 48
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k EANS EANY XTUTILES
D', [mm] A AEE  HEEE
[mm] [N] [N]
25 80 G 1/8 EUEE | YIXRYHN M10x1,25| BRMIT 260 309 R412020510
FEEAK OFERICE
> ELLERE
(<R
25 100 G1/8 BUEE | YIXRYBN M10x1,25| RRMIT 260 309 R412020511
fEEA N OFERAICHE
> ELIRE
[<A
25 125 G 1/8 BUEE | YITXRYB M10x1,25| BRI T 260 309 R412020512
FEEA N OEMAICHE
> ALIREE
&L
25 160 G1/8 BUEE | YIXRYKN M10x1,25| REmMNIT 260 309 R412020513
FEEA K OFERICE
> ALERE
(<R
25 200 G 1/8 HMEE | YUXY N M10x1,25| BRRMIT 260 309 R412020514
fEEA N OFERICE
> ELIERE
<4
25 250 G 1/8 BUEE | YITXRYBN M10x1,25| B@mINIT 260 309 R412020515
FEEAN DEAICE
> ALIREE
&L
25 320 G 1/8 HMEEE | YRV M10x1,25| R@BMNIT 260 309 R412020516
FEEA N DEAICE
> BLLRE
(<R
25 400 G 1/8 BUEE | YRV N M10x1,25| BRMIT 260 309 R412020517
FEEA K OFERICE
> ELIERE
&L
25 500 G 1/8 BUEE | YIXRYBN M10x1,25| BRI T 260 309 R412020518
FEEAN DEMAICE
> ELIRE
(<A
32 25 G 1/8 HMEEE | YITXRYBN M10x1,25| B@IMIT 435 505 R481624808
FEEAR OFEAICE
> ELERE
&L
32 50 G 1/8 BUEE | YRV KN M10x1,25| BRMIT 435 505 R481624809
FEEAK OFERICE
> ELLERE
&L
32 80 G 1/8 EUEE | YIXRY BN M10x1,25| RRMIT 435 505 R481624810
fEEA N OFERAICHE
> ELIRE
[<A
32 100 G 1/8 BUEE| YITXRYB M10x1,25| B@RINIT 435 505 R481624811
FEEA N OERAICHE
> ALIREE
&L
32 125 G1/8 BURE | YIXRYKN M10x1,25| RE@MNIT 435 505 R481624812
FEEAK OFERICE
> ALERE
(<A

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 49
(ISO 6432) 2024-01-18
EX b AhO—=72 R—h =& EAKN> EAKY XTUT7ILES
> o [mm] A AFE O HEE
[mm] [N] [N]
32 160 G1/8 MR | YUXY N M10x1,25| BmMIT 435 505 R481624813
HEERN OERICE
b% AL IRE
&L
32 200 G1/8 BMEE | YIXRYbA M10x1,25| BmMIT 435 505 R481624814
HEEAN OERICHE
> ALIRE
&L
32 250 G1/8 HMEE | YJXY N M10x1,25| BmMMIT 435 505 R481624815
HEEAN OERICE
> ELIERE
L
32 320 G1/8 HMEE | YIRYN M10x1,25| BEmITT 435 505 R481624816
HFEERN OERICE
> ELLREE
&L
32 400 G1/8 BMEE | YIRY A M10x1,25| BMmIIT 435 505 R481624817
HEEAN OERICE
b AL k%
&L
32 500 G1/8 HMEE | YUXY N M10x1,25| BmIIT 435 505 R481624818
REEAN DFERAICIE
> ELIERE
eL
40 25 G1/4 HMEE | YJXY N M12x1,25| BmMIT 660 790 R481624819
FEEAR DO FERICE
> ELERE
&L
40 50 G 1/4 HMEE | YUXY N M12x1,25| BmMIT 660 790 R481624820
HEERL OFERICE
p% AL IRE
&L
40 80 G 1/4 BMEE | YIRY N M12x1,25| RRMMIT 660 790 R481624821
FEEA N OFERAICE
> AL
&L
40 100 G 1/4 HMEE | YJXY N M12x1,25| BmMIT 660 790 R481624822
FEERL OFERICE
> ALIRE
&L
40 125 G 1/4 MR | YJXY N M12x1,25| BmMIT 660 790 R481624823
HEERN OERICE
b% AL IRE
&L
40 160 G 1/4 BMEE | YIRY A M12x1,25| BmMIT 660 790 R481624824
HEEAN OERICHE
> ALIRE
L
40 200 G 1/4 HMEE | YJXY N M12x1,25| BmMMIT 660 790 R481624825
HEEAR OERICE
> ELIERE
L
40 250 G 1/4 HMEE | YIRYN M12x1,25| EmIIT 660 790 R481624826
HFEEARN OERICE
> ELLREE
&L

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 50
(ISO 6432) 2024-01-18
EX b AhO—=72 R—h EAK> EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]
40 320 G 1/4 BMEE | YIRYbN M12x1,25| BmMIT 660 790 R481624827
HEERN OERICE
b% AL IRE
&L
40 400 G 1/4 BMEE | YIXRYbA M12x1,25| BEmMIT 660 790 R481624828
HEEAN OERICHE
> ALIRE
&L
40 500 G 1/4 HMEE | YJXY N M12x1,25| BmMMIT 660 790 R481624829
HEEAN OERICE
> ELIERE
L
50 25 G 1/4 HMEE | YIRYN M16x1,5| BEMITIT 1035 1235 R481624830
HFEERN OERICE
> ELLREE
&L
50 50 G 1/4 BUEE | YIxYA M16x1,5| RBIIT 1035 1235 R481624831
HEEAN OERICE
b AL k%
&L
50 80 G 1/4 BMEE | YIXRYN M16x1,5| BmINIT 1035 1235 R481624832
REEAN DFERAICIE
> ELIERE
eL
50 100 G1/4 HMEE | YJXY N M16x1,5| BEMIWIT 1035 1235 R481624833
FEEAR DO FERICE
> ELERE
&L
50 125 G 1/4 BMEE | YIRYbN M16x1,5| E@MIT 1035 1235 R481624834
HEERL OFERICE
p% AL IRE
&L
50 160 G 1/4 BMEE | YIRY N M16x1,5| B@RMIT 1035 1235 R481624835
FEEA N OFERAICE
> AL
&L
50 200 G 1/4 HMEE | YJXY N M16x1,5| EmMINIT 1035 1235 R481624836
FEERL OFERICE
> ALIRE
&L
50 250 G 1/4 BMEE | YIXRYbN M16x1,5| BERMIT 1035 1235 R481624837
HEERN OERICE
b% AL IRE
&L
50 320 G 1/4 BMEE | YIRY A M16x1,5| RMINIT 1035 1235 R481624838
HEEAN OERICHE
> ALIRE
L
50 400 G 1/4 HMEE | YJXY N M16x1,5| BRMIT 1035 1235 R481624839
HEEAR OERICE
> ELIERE
L
50 500 G 1/4 HMEE | YIRYN M16x1,5| BEMITIT 1035 1235 R481624840
HFEEARN OERICE
> ELLREE
&L

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 51
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]
63 25 G 3/8 EUEE | YIXRYHN M16x1,5| BRMIT 1765 1960 R481624841
FEEAK OFERICE
> ELLERE
(<R
63 50 G 3/8 BUEE | YIXRYBN M16x1,5| BR@RMIT 1765 1960 R481624842
fEEA N OFERAICHE
> ELIRE
[<A
63 80 G 3/8 BUEE | YITXRYB M16x1,5| BRI T 1765 1960 R481624843
FEEA N OEMAICHE
> ALIREE
&L
63 100 G 3/8 BUEE | YIXRYKN M16x1,5| BRMIT 1765 1960 R481624844
FEEA K OFERICE
> ALERE
(<R
63 125 G 3/8 HMEE | YUXY N M16x1,5| BRRMIT 1765 1960 R481624845
fEEA N OFERICE
> ELIERE
<4
63 160 G 3/8 BUEE | YITXRYBN M16x1,5| BmINIT 1765 1960 R481624846
FEEAN DEAICE
> ALIREE
&L
63 200 G 3/8 BURE | YIXRYN M16x1,5| BRI T 1765 1960 R481624847
FEEA N OERICE
> BLLRE
(<R
63 250 G 3/8 BUEE | YRV N M16x1,5| BRMIT 1765 1960 R481624848
FEEA K OFERICE
> ELIERE
&L
63 320 G 3/8 BUEE | YIXRYBN M16x1,5| BRIMNIT 1765 1960 R481624849
FEEAN DEMAICE
> ALIREE
(<A
63 400 G 3/8 HMEEE | YITXRYBN M16x1,5| BRI T 1765 1960 R481624850
FEEAR OFEAICE
> ELERE
&L
63 500 G 3/8 BUEE | YRV KN M16x1,5| BRMIT 1765 1960 R481624851
FEEAK OFERICE
> ELLERE
&L

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 52

(ISO 6432) 2024-01-18
ik
D SW2 4 KX
NE 1 — S
) E == N E— T (®
== * ¥ A
EwW = ky ©
WH L min
AM
XC+S
ZN+S
M2
—
ffffffffffff o>
L]
EE
| PB+S |
Ss=2Z2k0O—7
EARY @ AM-2 CD H9 D 53 EW d13 KK KX KY L min M1
16 16 6 22 M5 12 M6 10 32 9 21,2
20 20 8 28 G118 16 M8 13 4 12 25,7
25 22 8 33 G118 16 M10x1,25 17 5 12 28,2
32 22 10 38 G118 16 M10x1,25 17 5 14 34,6
40 24 12 49 G1/4 18 M12x1,25 18 6 16 38
50 32 16 57 G1/4 21 M16x1,5 24 8 17 42,1
63 32 16 70 G3/8 21 M16x1,5 24 8 17 453
EALNY @ M2 MM f8 MR PB %1 WH £1,4 XC 1 ZN 1 SW 1 SW 2
16 22,7 6 16 436 7,5 82 94,7 20 5
20 27,7 8 18 48,6 8 95 109,7 24 6
25 29,7 10 19 52,6 9,5 104 119,7 28 8
32 1,7 12 - 46 8,9 117,5 129,5 35 10
40 8,7 16 - 66 10,8 139,6 153,5 45 13
50 8,3 20 - 68 11,7 147,2 163 53 17
63 9,4 20 - 71,5 11,7 155 171 66 17

4

o

EMERSON.



AVENTICS CSL-RD > —X

(ISO 6432)

n
[
\’l

53
2024-01-18

S ) A —, 2 1)—X CSL-RD

NS YU —ERFEI I —
¥REE
ERNITOERICES
ATEX THA 7> 3>

N—=>3> 22847

pag ]

NTZY MIZEERKNY
MG

il

Mt U

BREHY ( FDANSF/EC No. 1935/2004 23T )

L7 B
EC NO 1935/2004

I[—

EX K AkO-=2  K-=b EXN> EAR> XTUTILES
> o [mm] A ABE A HEE
[mm] [N] IN]
16 25 M5 | MRS | YIRV b M6| REMIT 109 127 R412021846
HEER K OERICE
> BLLRE
el
16 50 M5 | MRS YIRY b M6| R@MIT 109 127 R412021847
HEER K OEMRICE
> BLLEREE
eL
16 80 M5 | S| YIERY b M6| BR@MIT 109 127 R412021848
HEEZ K OERICE
b4 AL ILEE
L
16 100 M5 | MRS | YIRY b M6| REMIT 109 127 R412021849
HEERA N OFERICE
> aLLREE
eL
16 125 M5 | MRS | YIRV b M6| R@MIT 109 127 R412021850
FEER K OERICE
> BLLEREE
el
16 160 M5|  EMRE| YIRV b M6| R@MIT 109 127 R412021851
HEEZ R OERICE
b4 AL L%
L
16 200 M5 | MRS | YIXRY B M6| REMIT 109 127 R412021852
HEEA N OEMICE
> aLLREE
L
16 250 M5 | MRS | YIRV b M6| REMIT 109 127 R412021853
HEER K OERICE
> AL LR
EL
16 320 M5 | MRS YIRY b M6| R@MIT 109 127 R412021854
HEERK OERICE
> AL LIRS
el
16 400 M5 |  EMEEE | YIXRY B M6| REMIT 109 127 R412021855
HFEEAN OEMICE
>

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 54
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]
16 500 M5 HMEE | YUXY N M6| BmIMIT 109 127 R412021856
FEEAK OFERICE
> ELIERE
&L
20 25 G 1/8 BUEE | YRV M8| BEmMIT 166 198 R412021857
FEEAN DEMAICE
> ALIREE
(<A
20 50 G 1/8 BMEEE | YRV M8| EmIIT 166 198 R412021858
FEEAR OFEMRICE
> ELERE
&L
20 80 G 1/8 HMEE | YUXY N M8| BRMIMIT 166 198 R412021859
FEEAK OFERICE
> ELIERE
(<R
20 100 G 1/8 EUEE | YIXRYBN M8| RmIMIT 166 198 R412021860
fEEA N OFERAICHE
> ELIRE
[<A
20 125 G 1/8 HEEE | YIXRYKN M8| EmIIT 166 198 R412021861
FEEA N OFEMAICE
> ALIREE
&L
20 160 G1/8 BUEE | YIXRYKN M8| BRMINIT 166 198 R412021862
FEEA N OFERICE
> ALERE
el
20 200 G 1/8 HMEE | YUXY R M8| RmIMIT 166 198 R412021863
fEEA N OFERICE
> ELIERE
(<4
20 250 G 1/8 BUEE | YRV M8| EmIMIT 166 198 R412021864
FEEAN DEAICE
> ALIREE
&L
20 320 G 1/8 BUEE | YIXRYKN M8| EmIIT 166 198 R412021865
HEEAN DOERICE
> BLLRE
(<R
20 400 G 1/8 HMEE | YUXY N M8| BMMMIT 166 198 R412021866
FEEAK OFERICE
> ELIERE
&L
20 500 G 1/8 BUEE | YIXRYBN M8| BEmIMIT 166 198 R412021867
FEEAN DEMAICE
> ALIREE
(<A
25 25 G 1/8 HMEEE | YRV M10x1,25| B@IMIT 260 309 R412021868
FEEAR OFEMRICE
> ELERE
&L
25 50 G1/8 BUEE | YIXRYKN M10x1,25| BRMMIT 260 309 R412021869
FEEAR OFERICE
> ELIERE
(<R

EMERSON.



AVENTICSCSL-RD U —X 23 & — 55
(ISO 6432) 2024-01-18
EAN ANO—2 R—k EARNY EANY XTUTILES
> @ [mm] H ABE J HEmE
[mm] [N] [N]
25 80 G1/8 EMEE | YURYN| M10x1,25| BRMIT 260 309 R412021870
fEEA N OEEMAICE
> ALERE
EL
25 100 G1/8 HMAEE | YYERYN| M10x1,25| ERMIT 260 309 R412021871
tEEAN OEMAICE
> ALERE
&L
25 125 G1/8 EMEE | YURYN| M10x1,25| ERMIT 260 309 R412021872
RFEEAN OERICE
> ALIERE
&L
25 160 G1/8 MRS | YYERYN| M10x1,25| BRMIT 260 309 R412021873
FEEAN OEEMAICE
> ALERE
EL
25 200 G1/8 BUEE | YRV M10x1,25| BRMIT 260 309 R412021874
TEEAN OEAICE
> ALERE
&L
25 250 G1/8 EMEE | YURYN| M10x1,25| REMMIT 260 309 R412021875
FEEAR OERICHE
> ALIERE
&L
25 320 G1/8 MG | YJRYN| M10x1,25| BRMIT 260 309 R412021876
FEERA KN DOERAICE
> SLIRE
EL
25 400 G1/8 EMEE | YURYN| M10x1,25| BRMIT 260 309 R412021877
fEEAN OEEAICE
> SLERE
EL
25 500 G1/8 EMEE | YYERYN| M10x1,25| ERMIT 260 309 R412021878
FEER KN OERICE
Y ALERE
&L

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 56

(ISO 6432) 2024-01-18
KW KX
— A
/
BF KV
WF
ZN+S
M1 M2
=
= |
| |
T
EE EE |
PB+S
S=XkO-7
EXLRY @ AM-2 BE BF b) EE KK KV KW KX KY
16 16 M16x1,5 16 22 M5 M6 24 8 10 3,2
20 20 M22x1,5 18 28 G1/8 M8 32 11 13 4
25 22 M22x1,5 20 33 G1/8 M10x1,25 32 11 17 5
EANY O M1 M2 MM f8 PB #1 WF +1,4 ZN =1 SW 1 SW 2
16 6,7 10 6 43,6 22 82 20 5
20 97 14 8 48,6 24 % 24 6
25 9,7 14 10 52,6 28 104 28 8

EMERSON.




AVENTICS CSL-RD > —X

(ISO 6432)

n
[
\’l

57
2024-01-18

S ) A —, 2 1)—X CSL-RD

NS YU —ERFEI I —
¥REE
ERNITOERICES

[BE:

N—=23ay  EERALT

pag ]

NTZY MIZEERKNY
MG

il

Mt U

BREHY ( FDANSF/EC No. 1935/2004 23T )

L7 B
EC NO 1935/2004

I[—

EX K AkO-=2  K-=b EXN> EAR> XTUTILES
> o [mm] A ABE A HEE
[mm] [N] IN]
16 25 M5 | MRS | YIRV b M6| REMIT 109 127 R480646359
HEER K OERICE
> BLLRE
el
16 50 M5 | MRS YIRY b M6| R@MIT 109 127 R480646360
HEER K OEMRICE
> BLLEREE
eL
16 80 M5 | S| YIERY b M6| BR@MIT 109 127 R480646361
HEEZ K OERICE
b4 AL ILEE
L
16 100 M5 | MRS | YIRY b M6| REMIT 109 127 R480646362
HEERA N OFERICE
> aLLREE
eL
16 125 M5 | MRS | YIRV b M6| R@MIT 109 127 R480646363
FEER K OERICE
> BLLEREE
el
16 160 M5 |  REMEEE| YIXRY B M6| R@MIT 109 127 R480646364
HEEZ R OERICE
b4 AL L%
L
16 200 M5 | MRS | YIXRY B M6| REMIT 109 127 R480646365
HEEA N OEMICE
> aLLREE
L
16 250 M5 | MRS | YIRV b M6| REMIT 109 127 R480646366
HEER K OERICE
> AL LR
EL
16 320 M5 | MRS YIRY b M6| R@MIT 109 127 R480646367
HEERK OERICE
> AL LIRS
el
16 400 M5 |  EMEEE | YIXRY B M6| REMIT 109 127 R480646368
HFEEAN OEMICE
>

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 58
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]

16 500 M5 HMEE | YUXY N M6| BmIMIT 109 127 R480646369
FEEAK OFERICE
> ELIERE
&L

20 25 G 1/8 BUEE | YRV M8| BEmMIT 166 198 R480646370
FEEAN DEMAICE
> ALIREE
(<A

20 50 G 1/8 BMEEE | YRV M8| EmIIT 166 198 R480646371
FEEAR OFEMRICE
> ELERE
&L

20 80 G 1/8 HMEE | YUXY N M8| BRMIMIT 166 198 R480646372
FEEAK OFERICE
> ELIERE
(<R

20 100 G 1/8 EUEE | YIXRYBN M8| RmIMIT 166 198 R480646373
fEEA N OFERAICHE
> ELIRE
[<A

20 125 G 1/8 HEEE | YIXRYKN M8| EmIIT 166 198 R480646374
FEEA N OFEMAICE
> ALIREE
&L

20 160 G1/8 BUEE | YIXRYKN M8| BRMINIT 166 198 R480646375
FEEA N OFERICE
> ALERE
el

20 200 G 1/8 HMEE | YUXY R M8| RmIMIT 166 198 R480646376
fEEA N OFERICE
> ELIERE
(<4

20 250 G 1/8 BUEE | YRV M8| EmIMIT 166 198 R480646377
FEEAN DEAICE
> ALIREE
&L

20 320 G 1/8 BUEE | YIXRYKN M8| EmIIT 166 198 R480646378
HEEAN DOERICE
> BLLRE
(<R

20 400 G 1/8 HMEE | YUXY N M8| BMMMIT 166 198 R480646379
FEEAK OFERICE
> ELIERE
&L

20 500 G 1/8 BUEE | YIXRYBN M8| BEmIMIT 166 198 R480646380
FEEAN DEMAICE
> ALIREE
(<A

25 25 G 1/8 HMEEE | YRV M10x1,25| B@IMIT 260 309 R480646381
FEEAR OFEMRICE
> ELERE
&L

25 50 G1/8 BUEE | YIXRYKN M10x1,25| BRMMIT 260 309 R480646382
FEEAR OFERICE
> ELIERE
(<R

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 59
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k EANS EANY XTUTILES
D', [mm] A AEE  HEEE
[mm] [N] [N]
25 80 G 1/8 EUEE | YIXRYHN M10x1,25| BRMIT 260 309 R480646383
FEEAK OFERICE
> ELLERE
(<R
25 100 G1/8 BUEE | YIXRYBN M10x1,25| RRMIT 260 309 R480646384
fEEA N OFERAICHE
> ELIRE
[<A
25 125 G 1/8 BUEE | YITXRYB M10x1,25| BRI T 260 309 R480646385
FEEA N OEMAICHE
> ALIREE
&L
25 160 G1/8 BUEE | YIXRYKN M10x1,25| REmMNIT 260 309 R480646386
FEEA K OFERICE
> ALERE
(<R
25 200 G 1/8 HMEE | YUXY N M10x1,25| BRRMIT 260 309 R480646387
fEEA N OFERICE
> ELIERE
<4
25 250 G 1/8 BUEE | YITXRYBN M10x1,25| B@mINIT 260 309 R480646388
FEEAN DEAICE
> ALIREE
&L
25 320 G 1/8 HMEEE | YRV M10x1,25| R@BMNIT 260 309 R480646389
FEEA N DEAICE
> BLLRE
(<R
25 400 G 1/8 BUEE | YRV N M10x1,25| BRMIT 260 309 R480646390
FEEA K OFERICE
> ELIERE
&L
25 500 G 1/8 BUEE | YIXRYBN M10x1,25| BRI T 260 309 R480646391
FEEAN DEMAICE
> ELIRE
(<A
32 25 G 1/8 HMEEE | YITXRYBN M10x1,25| B@IMIT 435 505 R481624984
FEEAR OFEAICE
> ELERE
&L
32 50 G 1/8 BUEE | YRV KN M10x1,25| BRMIT 435 505 R481624985
FEEAK OFERICE
> ELLERE
&L
32 80 G 1/8 EUEE | YIXRY BN M10x1,25| RRMIT 435 505 R481624986
fEEA N OFERAICHE
> ELIRE
[<A
32 100 G 1/8 BUEE| YITXRYB M10x1,25| B@RINIT 435 505 R481624987
FEEA N OERAICHE
> ALIREE
&L
32 125 G1/8 BURE | YIXRYKN M10x1,25| RE@MNIT 435 505 R481624988
FEEAK OFERICE
> ALERE
(<A

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 60
(ISO 6432) 2024-01-18
EX b AhO—=72 R—h =& EAKN> EAKY XTUT7ILES
> o [mm] A AFE O HEE
[mm] [N] [N]

32 160 G1/8 MR | YUXY N M10x1,25| BmMIT 435 505 R481624989
HEERN OERICE
b% AL IRE
&L

32 200 G1/8 BMEE | YIXRYbA M10x1,25| BmMIT 435 505 R481624990
HEEAN OERICHE
> ALIRE
&L

32 250 G1/8 HMEE | YJXY N M10x1,25| BmMMIT 435 505 R481624991
HEEAN OERICE
> ELIERE
L

32 320 G1/8 HMEE | YIRYN M10x1,25| BEmITT 435 505 R481624992
HFEERN OERICE
> ELLREE
&L

32 400 G1/8 BUEE | YIxYA M10x1,25| BMmIIT 435 505 R481624993
HEEAN OERICE
b AL k%
&L

32 500 G1/8 HMEE | YUXY N M10x1,25| BmIIT 435 505 R481624994
REEAN DFERAICIE
> ELIERE
eL

40 25 G1/4 HMEE | YJXY N M12x1,25| BmMIT 660 790 R481624995
FEEAR DO FERICE
> ELERE
&L

40 50 G 1/4 HMEE | YUXY N M12x1,25| BmMIT 660 790 R481624996
HEERL OFERICE
p% AL IRE
&L

40 80 G 1/4 BMEE | YIRY N M12x1,25| RRMMIT 660 790 R481624997
FEEA N OFERAICE
> AL
&L

40 100 G 1/4 HMEE | YJXY N M12x1,25| BmMIT 660 790 R481624998
FEERL OFERICE
> ALIRE
&L

40 125 G 1/4 MR | YJXY N M12x1,25| BmMIT 660 790 R481624999
HEERN OERICE
b% AL IRE
&L

40 160 G 1/4 BMEE | YIRY A M12x1,25| BmMIT 660 790 R481625000
HEEAN OERICHE
> ALIRE
L

40 200 G 1/4 HMEE | YJXY N M12x1,25| BmMMIT 660 790 R481625001
HEEAR OERICE
> ELIERE
L

40 250 G 1/4 HMEE | YIRYN M12x1,25| EmIIT 660 790 R481625002
HFEEARN OERICE
> ELLREE
&L

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 61
(ISO 6432) 2024-01-18
EX b AhO—=72 R—h EAK> EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]
40 320 G 1/4 BMEE | YIRYbN M12x1,25| BmMIT 660 790 R481625003
HEERN OERICE
b% AL IRE
&L
40 400 G 1/4 BMEE | YIXRYbA M12x1,25| BEmMIT 660 790 R481625004
HEEAN OERICHE
> ALIRE
&L
40 500 G 1/4 HMEE | YJXY N M12x1,25| BmMMIT 660 790 R481625005
HEEAN OERICE
> ELIERE
L
50 25 G 1/4 HMEE | YIRYN M16x1,5| BEMITIT 1035 1235 R481625006
HFEERN OERICE
> ELLREE
&L
50 50 G 1/4 BUEE | YIxYA M16x1,5| RBIIT 1035 1235 R481625007
HEEAN OERICE
b AL k%
&L
50 80 G 1/4 BMEE | YIXRYN M16x1,5| BmINIT 1035 1235 R481625008
REEAN DFERAICIE
> ELIERE
eL
50 100 G1/4 HMEE | YJXY N M16x1,5| BEMIWIT 1035 1235 R481625009
FEEAR DO FERICE
> ELERE
&L
50 125 G 1/4 BMEE | YIRYbN M16x1,5| E@MIT 1035 1235 R481625010
HEERL OFERICE
p% AL IRE
&L
50 160 G 1/4 BMEE | YIRY N M16x1,5| B@RMIT 1035 1235 R481625011
FEEA N OFERAICE
> AL
&L
50 200 G 1/4 HMEE | YJXY N M16x1,5| EmMINIT 1035 1235 R481625012
FEERL OFERICE
> ALIRE
&L
50 250 G 1/4 BMEE | YIXRYbN M16x1,5| BERMIT 1035 1235 R481625013
HEERN OERICE
b% AL IRE
&L
50 320 G 1/4 BMEE | YIRY A M16x1,5| RMINIT 1035 1235 R481625014
HEEAN OERICHE
> ALIRE
L
50 400 G 1/4 HMEE | YJXY N M16x1,5| BRMIT 1035 1235 R481625015
HEEAR OERICE
> ELIERE
L
50 500 G 1/4 HMEE | YIRYN M16x1,5| BEMITIT 1035 1235 R481625016
HFEEARN OERICE
> ELLREE
&L

EMERSON.



AVENTICS CSL-RD U —X 2”32 A — 62
(ISO 6432) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]
63 25 G 3/8 EUEE | YIXRYHN M16x1,5| BRMIT 1765 1960 R481625017
FEEAK OFERICE
> ELLERE
(<R
63 50 G 3/8 BUEE | YIXRYBN M16x1,5| BR@RMIT 1765 1960 R481625018
fEEA N OFERAICHE
> ELIRE
[<A
63 80 G 3/8 BUEE | YITXRYB M16x1,5| BRI T 1765 1960 R481625019
FEEA N OEMAICHE
> ALIREE
&L
63 100 G 3/8 BUEE | YIXRYKN M16x1,5| BRMIT 1765 1960 R481625020
FEEA K OFERICE
> ALERE
(<R
63 125 G 3/8 HMEE | YUXY N M16x1,5| BRRMIT 1765 1960 R481625021
fEEA N OFERICE
> ELIERE
<4
63 160 G 3/8 BUEE | YITXRYBN M16x1,5| BmINIT 1765 1960 R481625022
FEEAN DEAICE
> ALIREE
&L
63 200 G 3/8 BURE | YIXRYN M16x1,5| BRI T 1765 1960 R481625023
FEEA N OERICE
> BLLRE
(<R
63 250 G 3/8 BUEE | YRV N M16x1,5| BRMIT 1765 1960 R481625024
FEEA K OFERICE
> ELIERE
&L
63 320 G 3/8 BUEE | YIXRYBN M16x1,5| BRIMNIT 1765 1960 R481625025
FEEAN DEMAICE
> ALIREE
(<A
63 400 G 3/8 HMEEE | YITXRYBN M16x1,5| BRI T 1765 1960 R481625026
FEEAR OFEAICE
> ELERE
&L
63 500 G 3/8 BUEE | YRV KN M16x1,5| BRMIT 1765 1960 R481625027
FEEAK OFERICE
> ELLERE
&L

EMERSON.



AVENTICSCSL-RD > J—A 2 Z2 )X — 63
(ISO 6432) 2024-01-18
ik
D SW 2 KW
\ '
l
HH =4 EHEH- - —— =]
) 7] u
o |
r X v
EW KY BF
| Am | wr
I
XC+S
ZN+S
M1 M2
=
= |
| i
EE EE
| PB+S
I
S=2Z2k0O—7
S
& (mm)
EARY @ AM-2 BE BF CD H9 D 53 EW d13 KK KV KW
16 16 M16x1,5 16 6 22 M5 12 M6 24 8
20 20 M22x1,5 18 8 28 G1/8 16 M8 32 11
25 22 M22x1,5 20 8 33 G118 16 M10x1,25 32 11
32 22 M30x1,5 25 10 38 G118 16 M10x1,25 36 8
40 24 M38x1,5 28 12 49 G1/4 18 M12x1,25 46 10
50 32 M45x1,5 32 16 57 G1/4 21 M16x1,5 55 10
63 32 M45x1,5 32 16 70 G318 21 M16x1,5 55 10
ERALY @ KX KY L min M1 M2 MM f8 MR PB %1 VA WF £1,4
16 10 3,2 9 6,7 6,7 6 16 436 16 22
20 13 4 12 9,7 9,7 8 18 48,6 18 24
25 17 5 12 97 97 10 19 52,6 20 28
32 17 5 14 9,5 11,7 12 - 46 - 34
40 18 6 16 9,8 8,7 16 - 66 - 39
50 24 8 17 9,8 8,3 20 - 68 - 44
63 24 8 17 13 9,4 20 - 715 - 44
ERR> @ XC ZN £ 1 SW 1 Sw 2
16 82 94,7 20 5
20 95 109,7 24 6

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 64
(ISO 6432) 2024-01-18
EANY @ XC 1 ZN *1 S S

25 104 119,7 28 8

32 117,5 129,5 35 10

40 139,6 153,5 45 13

50 147,2 163 53 17

63 155 171 66 17

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 65
(1SO 6432) 2024-01-18

ED1-FARAIVL—NYAT LA

ISO 15552
CSL-RD

EANOER EAN>OY k=)L
[mm]
32 ZRUL-TEF4ITOAN W&TSAFYIRIZANY— R412028343
40 ZRUIL-TEFA4IVAAN MBS SAFYIRIZANY— R412028347
50, 63 ZRUL-TEF4IVOAN W&TZAFYIRIZANI— R412028351
R412028343 R412028347
+3& (mm) +3% (mm)

\
M25x1

R412028351
F3& (mm)

M33x1,5

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 66
(1SO 6432) 2024-01-18

ED1-FARAIVL—NYAT LA

ISO 15552
CSL-RD

EANOER EANAY R—)L NTUT7ILES
[mm]

32 ZRULN-TEF4IVAL| BEIFERUIFL > (UHMW-PE), R412028344
BTMEMHRTL Z (TPU)

40 ZRUNL-TEF4IVAL| BESTFHERUIFL > (UHMW-PE), R412028348
RBAEHARITL R (TPU)

50, 63 ZRUL-TEF4IVAL| BESFHERUIFL > (UHMW-PE), R412028352
RAEMHRITL R (TPU)

R412028344 R412028348
F3& (mm)

\
[
M25x1

R412028352
F3& (mm)

\
[
M33x1,5

EMERSON.



AVENTICSCSL-RD =X X =2 )5 —

(ISO 6432)

67
2024-01-18

ED1-FARAIVL—NYAT LA

ISO 15552
CSL-RD

EANOER
[mm]

EAR>OY K-

XTUTILES

32| BESFMHRUIFLY (UHMW-PE)| BESFMHARUIFL> (UHMW-PE) R412028345
40| BESFHAVIFLY (UHMW-PE)| BESFHAUIFL > (UHMW-PE) R412028349
50,63| RESFHRKUIFLY (UHMW-PE)| BESFHEALUIFLY (UHMW-PE) R412028353

R412028345
I3 (mm)

\
[
M25x1

R412028353
F3& (mm)

32

\
[
M33x1,5

R412028349
I3 (mm)

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 68
(1SO 6432) 2024-01-18

ED1-FARAIVL—NYAT LA

ISO 15552
CSL-RD

EANOY RZ—)L

32 LA A RUFRZZILAIFLY R412028346
40 ZILADAL RUFNZTILAFAIFLY R412028350
50, 63 ZILAdA RUFRZZILAIFLY R412028354
R412028346 R412028350
& (mm) I& (mm)

\
M25x1

R412028354
F3& (mm)

\
[
M33x1,5

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 69
(1SO 6432) 2024-01-18

EANEHEAFY b MR9

ALY R4 X XTUTILES
M6 ATVLARF= 8103190644
M8 ATVLAARAF=IL 8103190164
M10x1,25 ATV LAARF—L 8103190464
M12x1,25 ATV LARF—L 3590304000
M16x1,5 ATV LARF—L 3590305000

/\ —

< o4V _pl KW
KK 73)3_—*!)% KV KW
M4 1823300033 10 3.2
M6 1823300034 13 4
M8 1823A00021 19 6
M10 8103190344 19 6
M10x1,25 1823300030 24 8
M20x1,5 1823300031 30 10
M27x2 1823A00029 41 13.5
M36x2 8103190414 50 16
M42x2 8103190424 60 21
M6 8103190644 10 3.2
M8 8103190164 13 4

EMERSON.



AVENTICSCSL-RD > U—X X Z2 )8 — 70

(ISO 6432) 2024-01-18
KK 77)3_-&?% KV Kw
M10x1,25 | 8103190464 17 5
M4 3330310000 7 2.2
M12x1,25 3590304000 19 6
M16x1,5 3590305000 24 8
M20x1,5 | 3590308000 30 10
M20x1,5 8103040344 30 10
M24x2 | 8103190394 36 12
M48x2 | 8103190434 65 25
M10x1,25 2990600303 17 5
M12x1,25 2990600304 19 6
M16x1,5 2990600305 24 8
M20x1,5 | 2990600308 30 10
M27x2 2990600312 41 13.5
M36x2 2990600316 50 16
M42x2 | 2990600325 60 21

EMERSON.



AVENTICSCSL-RD Y U—X =2 U2 A — 71
(ISO 6432) 2024-01-18

OY RVLEAI> R AP2, 1) —X CM2

XTUTILES
CSL-RD, SSI, ICM ATVLARF= 3330516000
CCL-IC, CSL-RD, CCl, ICM ATVLAARF=L 3330520000
CCL-IS, CCL-IC, CCI, CSL-RD, SSI, ICM, ICS-D2, 167 ATV LAARF—L 3590502000
CCL-IS, CCL-IC, CClI, SSI, 167, ICS-D2 ATV LARF—L 3590504000
CCL-IS, ICS-D2, 167 ATV LARF—L 3590505000

Y
A

|
I -
[/ ! 5 o Y
|| () N ) I ) il
28] @) W
X A
—al— ¥
ER _ CE |
A
J i ‘i - — | [
)
Y '
|
KK X7 CE CKe8 CL CM B12 ER BL LE
TINES
M4 3330510000 16 4 10 5 6 15 8
M6 3330516000 24 6 12 6 7 17 12
M8 3330520000 32 8 16 8 10 22 16
M10x1,25 3590502000 40 10 20 10 12 26 20

EMERSON.



AVENTICSCSL-RD Y U—X =2 U2 A — 72
(ISO 6432) 2024-01-18

N7V

KK FILES CE CKe8 CL CM B12 ER BL LE
M12x1,25 3590504000 48 12 24 12 14 31 24
M16x1,5 3590505000 64 16 32 16 19 39 32
M20x1,5 3590508000 80 20 40 20 20 49 40

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 73
(1SO 6432) 2024-01-18

OYy ROLERAIY KRAP6, Z1)—X CM2

REIR V) 312 -0(E &) RTUTINES
[mm]

CCL-IC, CSL-RD, ICM 6 ATVLARF=L 8958209012

CCL-IC, CSL-RD, ICM 8 ATV LAARAF=IL 8958209022

CCL-IS, CCL-IC, SSI, CSL-RD, ICM, 10 ATV LAARF—L 8958209032

ICS-D2
CCL-IS, CCL-IC, SSI, ICS-D2 12 ATVLARF— 8958209042
CCL-IS, CCL-IC, SSI, ICS-D2 16 ATV LARF—L 8958209052
CE

4 A1/ AN
- - I \ SE==F== <
wi ‘('T_'_ I R T S
\\ /l
LF

EMERSON.



AVENTICSCSL-RD > U—X 2o ) A — 74
(ISO 6432) 2024-01-18
KK s AA AV min. CE @ CN H7 EN-0,1 ER EU max. LF SW
7INES
M4 8958209002 11 8 27 5 8 9 6 9 9
M6 8958209012 13 9 30 6 9 10 6,75 10 1
M8 8958209022 16 12 36 8 12 12 9 12 14
M10x1,25 8958209032 19 15 43 10 14 14 10.5 14 17
M12x1,25 | 8958209042 22 18 50 12 16 16 12 16 19
M16x1,5 8958209052 27 24 64 16 21 21 15 21 22
M20x1,5 8958209062 34 30 77 20 25 25 18 25 30
M27x2 8958209072 50 45 110 30 37 35 25 35 41
KK Z [°] max.
M4 6,5
M6 6,5
M8 6,5
M10x1,25 6,5
M12x1,25 6,5
M16x1,5 7,5
M20x1,5 7,5
M27x2 7,5

EMERSON.



AVENTICS CSL-RD > —X 75
(1SO 6432) 2024-01-18

n
[
\’l
—
\I
R
I

7Y K MR3, =X CM1

BYE EARNY @ ALY RS X XTUTILES
[mm]
16 M16x1,5 ATVLARF=L 2918540030
20, 25 M22x1,5 ATV LAARAF=IL R913030290
32 M30x1,5 ATV LAARF—L R412027981
40 M38x1,5 ATV LARF— R412027982
50, 63 M45x1,5 ATV LAARF=I R412027983

8,10 1823300024 MNI M12x1,25 17 5.5
12,16 2915A51204 MNI M16x1,5 22 6
20,25 2915051207 | CSL-RD, MNI M22x1,5 30 7

EMERSON.



AVENTICSCSL-RD 2 U—X 2=V &— 76
(ISO 6432) 2024-01-18
eaky o STl su—xR BE KV KW
8,10 0413215803 ICM M12x1,25 17 6.75
16 0413214505 IcM M16x1,5 24 7
16 2918540030 CSL-RD M16 x1,5 27 8
20,25 | 0413214602 ICM M22 x1,5 30 8
20,25 | R913030290 | CSL-RD M22 x1,5 32 11
32 0413214718 ICM M30x1,5 41 11
80 3008010180 102 M24x2 36 8
60,85 | 3056010180 102 M24 36 8
32 R412027809 102 M30x1,5 36 10
40 R412027810 RPC M36x1,5 46 10
113, 160 3012010180 102 M36x3 52 10
40 R412027811 RPC M38x1,5 46 10
50, 63 R412027812 RPC M45x1,5 60 12
250 3075010180 102 M48x3 65 12
R412027981 R412027982
+3% (mm) SHE (mm)

R412027983

F3& (mm)

@ 30,5

23838

EMERSON.



n
[
\’l
—
\I
R
I

AVENTICS CSL-RD > —X 77
(1SO 6432) 2024-01-18

75T MF8, 1) —X CM1

ISO 6432
EARNOER b7k -4 4 HE XTVTILES
[mm]
12,16 ISO 6432 ATVLARF—L 3322016000
20, 25 ISO 6432 ATYLARF=L 3322020000
—— i}

EANY O _,7'7"):. gd 2 FB MF TF js14 UF UR
TIILES
8,10 3322010000 12 4.5 3 30 40 22
12,16 3322016000 16 5.5 4 40 52 30
20, 25 3322020000 22 6.6 5 50 66 40
8,10 1821036012 12 4.5 3 30 40 25
12,16 1821036011 16 5.5 4 40 52 30
20, 25 1821036010 22 6.6 5 50 66 40

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 78
(1SO 6432) 2024-01-18

7 v NEUT I MS3, = 1) —X CM1

ISO 6432

EARNCOER b2k 1414 HE XTVUTILES
[mm]
12,16 ISO 6432 ATV LAARAF=IL 3322216000
20, 25 ISO 6432 ATV LAARF=I 3322220000

NH js15

@FB H13
TR js14
usS

Y

|

@ FB H13 @ KD H13 NH £0,3 js15 TR js14
8,10 3322210000 5 10 1" 4.5 12 3 16 25 35
8,10 1821332029 5 10 11 4.5 121 3 16 25 35
12,16 3322216000 6 12.5 14 5.5 16.1 4 20 32 42
12,16 1821332028 6 13 14 5.5 16.1 4 20 32 42
20, 25 3322220000 8 20 17.5 6.6 221 5 25 40 54
20, 25 1821332027 8 20 17 6.6 221 5 25 40 54
32 3322232000 9 24 20 6.6 30.1 5 32 48 65

\

&

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 79
(1SO 6432) 2024-01-18

OvY R LEAET T AB3, > 1) —X CM1

REIR V) 312 -0(E &)

[mm]
12, 16 6 ATYLARF— 3323416000
20,25 8 ATVLARF—) 3323420000
—- —-—
S
Y (
? J Ll I
—
L

2] FO

— - g - ——
CL B
e S—
UH
B E——
EANY O _,77_- U.:. CM @ CK CL FL FO MR aT TB UH
T7IILES

8,10 1827001447 8,1 4 13,1 24 1,5 5 4,5 12,5 20
8,10 3323410000 8 4 13 24 1,5 5 4.5 12 20
12,16 1827001446 12,1 6 18,1 27 2,0 7 55 15 25
12,16 3323416000 12 6 18 27 2,0 7 55 15 25
20, 25 1827001445 16,1 8 241 30 4,0 10 6,6 20 32
20, 25 3323420000 16 8 24 30 4,0 10 6.6 22 34
32 3323432000 26 10 36 32 6,0 12 6.6 24 36

EMERSON.



AVENTICSCSL-RD =X X =2 )5 —

(ISO 6432)

80
2024-01-18

OvY R LEAET T AB3, > 1) —X CM1

CSL-RD

EANOER

REIR V) 312 -0(E &)

[mm] [mm]
32 10 ATV LARAAF—I R412027966
40 12 ATVLAARF=I R412027967
50, 63 16 ATVLAARAF=I R412027968
R412027966 R412027967
I3 (mm) I3 (mm)
/\<FTV~ 245
35ﬂ10
ol 4 -0l 5
R412027968
F3E (mm)

28

39

A
a)
211

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 81
(1SO 6432) 2024-01-18

FIv o FIa—UF#, &k#E, 1) —X CCO2-SL

il

TSHALYT AT
[3E:

NSF/ANSI 169

FDA B&

EU#R Al 1935/2004

EfZERAR—h 2 V) e ERLEH Qn2 A5 1 mE NI>D2T XTVTILES
[I/min]
g4 M5 2>1 50 ATV LAARF=II R412024736
a4 G 1/8 2>1 150 ATV LARF—I R412024737
6 G1/8 2>1 190 ATVLARF—I R412024738
8 G1/8 2>1 200 ATVLAARF=I R412024739
a6 G 1/4 2>1 370 ATVLARF—I R412024740
a8 G1/4 2>1 420 ATVLARF—L R412024741
10 G 3/8 2>1 1000 ATVLARF—L R412024742
RP:
SW

R412024736 a4 M5 5 28.5 12.5 9 18 10 6
R412024737 a4 G1/8 5 32 15.5 9 19.5 14 9
R412024738 a6 G1/8 5 32 15.5 12 22 14 9
R412024739 28 G1/8 5 32 15.5 14 225 14 9
R412024740 26 G 1/4 6.5 40 17.5 12 235 17 10
R412024741 a8 G1/4 6.5 40 17.5 14 24 17 10
R412024742 @10 G1/4 9 52 22 16 28 22 14

EMERSON.



AVENTICSCSL-RD Y U—X =2 U2 A — 82
(ISO 6432) 2024-01-18

FIv o FIa—UF#, &k#E, 1) —X CCO2-SL

TSHALYT AT
il

ERzERR—k 2 &) B mE EREE QN1 A5 2 ME NIDDT XTUTILES
[I/min]
g4 G1/8 1>2 150 ATV LAARF=II R412024749
g6 G1/8 1>2 190 ATVLARF=I R412024750
6 G 1/4 1>2 370 ATVLARF—I R412024751
g8 G1/4 1>2 420 ATVLAARF=I R412024752
a10 G3/8 1>2 1000 ATVLARF=I R412024753
RE
SwW

R412024749 a4 G1/8 5 32 15.5 9 19.5 14 9
R412024750 a6 G1/8 5 32 15.5 12 22 14 9
R412024751 26 G 1/4 6.5 40 17.5 12 235 17 10
R412024752 28 G 1/4 6.5 40 17.5 14 24 17 10
R412024753 210 G 3/4 9 52 22 16 28 22 14

EMERSON.



AVENTICS CSL-RD U —X
(ISO 6432)

n

83
2024-01-18

o — 2 1)—XST4

PRA
SSI

GSuU
RTC
CKP
GPC
MSC
MSN
RCM
CVvi

BUTLWRTr—7 ol
UL (Underwriters Laboratories)

cULus
RoHS

=X
(OJEE::3:88)

a>z9
N4

=7
IREL

[m]

PRA, SSI,
GSU, RTC,
CKP, GPC,
MSC, MSN,

RCM, CVI

U—k

0.13

0.13

30

HtE e Expy b

R412019488

PRA, SSI,
GSU, RTC,
CKP, GPC,
MSC, MSN,

RCM, CVI

0.13

0.13

30

Wt R Eps b

R412019489

PRA, SSI,
GSU, RTC,
CKP, GPC,
MSC, MSN,

RCM, CVI

T PNP

0.1

10

30

MR 4EtE, &
RIS I

R412019680

PRA, SSI,
GSU, RTC,
CKP, GPC,
MSC, MSN,

RCM, CVI

EFH PNP

0.1

10

30

MR, 1R
R ERRA L

R412019681

EMERSON.



AVENTICSCSL-RD ¥ U—X 2”3 A— 84
(1SO 6432) 2024-01-18
3k
B . L 2,9 — ]
/
~
r [ e — O <
A
2)/ 1)/ N
P, - s S
B i)s ' —au
— 4 —BU
| X BK
3 x 0,09 mm?

1) LED 2) 147K 1 > h
L=7—7)LE&BN=% BK=2,BU=5&

N7V

A

!

TILES A s <
R412019488 26.3 6.3 20.3
R412019489 26.3 6.3 20.3
R412019680 23.7 2.8 17.7
R412019681 23.7 2.8 17.7
R412019684 23.7 2.8 17.7
R412019685 23.7 2.8 17.7

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 85
(1SO 6432) 2024-01-18

o — 2 1)—XST4

PRA
SSi
GsuU
RTC
CKP
GSP
MSC
MSN
RCM
CVI
729
M8

UL (Underwriters Laboratories)
cULus
RoHS

21)—=X a>89 r—7 TREFR
D EEES K247 ILEEL DC. &K

[m] (Al

PRA, SSI, J—R 0.3 0.13 0.13 5 30| EmMRERLE R412019682
GSU, RTC,
CKP, GSP,
MSC, MSN,

RCM, CVI

PRA,SSI,| ZEFMH PNP 0.3 0.1 10 30| MR, & R412019683
GSU, RTC, R &Ry b
CKP, GSP,
MSC, MSN,

RCM, CVI

R

A

/f /T L o =

L C o~ © ~7.,6
e N Q
Q
v | — T e
e =t 4*%1\m_- =
—ag ~36 —
— L —

1) LED 2) t1#RK A > k
L=—7ILk&

EMERSON.



AVENTICS CSL-RD ¥ U—X S35 —
(ISO 6432)

86
2024-01-18

N7V

FIES a s <
R412019682 26.3 6.3 20.3
R412019683 23.7 2.8 17.7
R412019694 23.7 2.8 17.7

R412019682, R412019683
B> Ev) %4T M8x1 (3 1)
1 4 3

EMERSON.



AVENTICS CSL-RD > —X 87
(1SO 6432) 2024-01-18

n
I
\’l
—
\I
P
I

o — 2 1)—XST6

PRA
PRE
CClI
KPZ
SSI

GPC
CVI
T—FINIVRAY=THL, ERAYF
CE-BAMENET

cULus

RoHS

UL (Underwriters Laboratories)

S—  aAvry -7 T—7 YRER RER EHEE EHEE FEBEE FEHEE
ADE K47 JLAN— JEEL DC, &K AC. &K DC. &/ DC. &K AC. &/ AC. &K

EES [m] (Al (Al [VDC] [VDC] [VAC] [VAC]
PRA, | WU—K| RUIL 3 0.3 0.5 10 30 10 30| BHRE R412022869
PRE, D Bh1E
ccl,
KPZ, SSI,
GPC, CVI
PRA,| U—K| RUIL 5 0.3 0.5 10 30 10 30| BHRE R412022870
PRE, 2 Bh1E
ccl,
KPZ, SSI,
GPC, CVI
PRA, | WU—K| RUIL 10 0.3 0.5 10 30 10 30| BHRE R412022871
PRE, D BH1E
ccl,
KPZ, SSI,
GPC, CVI
PRA,| EBFM| RUIL 3 0.13 10 30 gk g R412022853
PRE, PNP 2 B R
ccl, Bh1E
KPZ, SSI,
GPC, CVI
PRA,| EBFHM| RUIL 5 0.13 10 30 T AR, R412022855
PRE, PNP 2 B R
ccl, BH1E
KPZ, SSI,
GPC, VI

EMERSON.



AVENTICSCSL-RD 2 )—X ZZ=Z2 )8 —

88
(1ISO 6432) 2024-01-18
3k
57 295 L
s 1 2 2.7
: . BN
$ - — {w&%, ,,,,,,, E . BU
BK
X 3% 0,14 mm2
. 30
21,75 ,
| 082 o
N
[ Q
| A 2% . T
— )

=R 2*=0OY IR LU 3*=LED U1 R, EH
L=%—7)IR&EBN=%,BK=8,BU=F
X=EFF :11.6 mm

EMERSON.



AVENTICS CSL-RD U —X
(ISO 6432)

n
I
\’l
—
\I
P
I

89
2024-01-18

v —

PRA
PRE
CClI

KPZ

, 1) —X ST6

a>&y  5—=7 T—7 OHBRER YRER FHEE EBHEE FHEE FEHEE ik NTUTINES
K&47 JLAN— JEEL DC, &K AC. &K DC. &/> DC., &K AC. &/ AC. &K
[m] [Al [Al [V DC] [V DC] [V AC] [V AC]

PRA,| U—K| KUtk 03 03 05 10 30 10 30| BHRE R412022875

PRE, EZL bHls

cal,
KPZ, SSI,
GPC, CVI

PRA,| EFH| RUIL 03 0.13 10 30 it s A 1, R412022859

PRE, PNP 2y L

ccl, Bk
KPZ, SSI,
GPC, CVI
&

29,5 L
57
27 36-415
48
/7 1* 2*
o U — = = I ,7,,,§
» _%

1" ={MfRRA > R2*=0OY Y4l 3*=LED T 1> R, EH
L=r—7LRE

X=8F: 11,6 mm, J—K:83mm

EMERSON.



AVENTICSCSL-RD 2 )—X ZZ=Z2 )8 —
(ISO 6432)

90
2024-01-18

R412022875, R412022859
B> Ev) %4T Mex1 (3 1)
1 4 3

EMERSON.



n
[
\’l
—
\I
R
I

AVENTICS CSL-RD U —X
(ISO 6432)

91
2024-01-18

toH—, 2 )—-XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

729

M8

ATEX
CE-BAMENET
cULus

RoHS

UL (Underwriters Laboratories)

T Hap2M o

ﬂ-__ BK
PNP _s__ﬁ_
2)—X a>329 r—7 r—7 YRER EBIEE EBEE
O EZERS K217 ILAN— IEEL DC, &K DC. &‘» DC., &KX
[m] [A] [V DC] [V DC]
PRA, PRE, PNP| RUILARY 0.3 0.1 10 30| TE&N, & R412022860
CCl, KPZ, L Yl
SSl, GPC,
cvI
Ii&
29,5 L
2L 2,7 36-41,5
48 ‘ —
/7 1* 2*
w lI 7777777 1 — W | 1 ] ‘;<-
. = * . mmp
X \_—
21,75 ,
| 0,82 o
N
Q
9
3* ‘5““1
1*=4{aRA > h2*=AOY YR LU 3*=LED V4> R, EH
L=r—7LEe
X=EF: 11,6 mm, J—K:83mm
4

EMERSON.



AVENTICSCSL-RD 2 )—X ZZ=Z2 )8 —

92
(ISO 6432) 2024-01-18
R412022860
B8V 4T M8x1 (3 1)
1 4 3

EMERSON.



n
[
\’l
—
\I
R
I

AVENTICS CSL-RD > —X 93
(1SO 6432) 2024-01-18

o — 2 1)—XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

BUTLW2Tr—7 ol
ATEX
CE-BAMENEF
cULus

RoHS

UL (Underwriters Laboratories)

\

T Hap2M o

ﬂ— BK
PNP 3_jBu ]_

=X a>29 g—7 g—7 LIRER EBEE EBEE
O EEERM hNaA7 LAN— LRZ L DC. &K DC. &> DC. &K

[m] Al [V DC] [V DC]

PRA, PRE, PNP| RUIL AR 3 0.1 10 30| THELENY, & R412022854
CCl, KPZ, L Yl
SSI, GPC,

cVI

PRA, PRE, PNP| RUDIL &R 5 0.1 10 30| TR, & R412022856
CCl, KPZ, R ERf LE
SSI, GPC,

CVI

+&

T — BN

BK
X 23x0,14 mm?2

30

@29

9
3* J 6@7/‘

1T*={R_RA > 2*=0OY V8L 3*=LED V1> R, EH
L=7—7)IR&EBN=%,BK=8,BU=F
X=EF:11.6 mm

EMERSON.



AVENTICS CSL-RD > —X 94
(1SO 6432) 2024-01-18

n
I
\’l
—
\I
2
I

Y —H1T i+, 1) —X CB1

ST4
ST6

S G & IFUTILES
[mm]
16 RUFEZR, ATVLAARF—I R412021791
20 RUFEIR, ATFVLARAF—I R412021792
25 RUFIR RAFVLARAF—I R412021793
1) 2) 3)

1) ST6 Fﬁt‘/;f—;kl:l Y h2)ST4 Aty —2Z0OY N 3) BERL (RFYLARF—ILE)4) S UYH—TOT77 AL 5 RUAVH— K (RFVLARF—ILE) 6) &
HFHFARNZY

51
;)Lrg%. A B © b)
R412021791 27.7 32,5 22.1 173
R412021792 324 35 224 19.7
R412021793 374 39.5 24.3 22.2

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 95
(1SO 6432) 2024-01-18

B, 1) —X CB1
ST6
g % Fig. B

-
¥ 4

Fig. A
PN SRk UN PV Sl PN XTUTILES
[mm] [mm]

25 32 ATVLARF=L R412024050
40 40 ATV LAARF—L R412024051
50 50 ATVLAARF=I R412024052
63 63 ATV LARF— R412024053
25 63 ATVLARF—L R412024054

10

30,5 52 r—j

]

[
[

N EERLU 2) HOMHFRANT YT ) MOF/FANTY 7AMOI4) VX —F1—7 5) o —KRILA—

R412024050 | 25-32 mm ST6 Fig. B
R412024051 40 mm ST6 Fig. B
R412024052 50 mm ST6 Fig. B
R412024053 63 mm ST6 Fig. B
R412024054 | 25-63 mm ST6 Fig. A

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 96
(1SO 6432) 2024-01-18

2 1J)—X QR2-C-RPN, AF>V L AAF—I

ARNL=—KRT71vFa2Y
ERNITOERICES

M5 a4 2 2544004050
G1/8 a4 2 R412004890
G1/8 a6 2 R412004891
G 1/8 a8 2 R412004892
G 1/4 a6 2 R412004893
G1/4 a8 2 R412004894
G 1/4 10 2 R412004895
G 3/8 @10 2 R412004896
G 3/8 g 12 2 R412004897
&
swi B
N g 4 &
i< P>
] T I | 5=
I =
'\.I_/ | |
SW2 C E G

Sigs  A-hD -G
2544004050 a4 M5 20.5 4 7 15 9 - 9
R412026847 g6 M5 225 4 - 16 9 - 11
R412010036 a4 M7 225 55 5 15 1 2.5 9
R412010037 g6 M7 24 55 6 16 1 35 1
R412004890 g4 G1/8 17 55 7 15 13 3 9
R412004891 g6 G1/8 23.5 55 12.5 16 13 4 1

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 97

(ISO 6432) 2024-01-18
Sise  K—hD  #—hs

R412004892 a8 G1/8 235 5.5 12.5 18 13 5 13
R412004893 26 G1/4 215 6.5 5.5 16 16 4 11
R412004894 28 G 1/4 255 6.5 9.5 16 16 6 13
R412004895 @10 G114 27.5 6.5 75 16 16 7 15
R412004896 @10 G318 255 9 7 19 21 8 15
R412004897 212 G3/8 31 9 7 20 21 10 17
R412010043 @10 G112 29 9 7 19 23 8 15
R412010524 @12 G112 29 9 7 20 23 10 17

*EARE

EMERSON.



AVENTICSCSL-RD =X X =2 )5 — 98
(1SO 6432) 2024-01-18

2 1J—X QR2-C-RVT, AF>VLAARAF—I

BTAYTFAY
ERNITOERICES

XTUTILES

M5 g4 2 R412005617

M5 6 2 R412026810
G1/8 D4 2 R412004898
G1/8 a6 2 R412004899
G1/8 a8 2 R412004900
G 1/4 6 2 R412004901
G 1/4 a8 2 R412005616
G 3/8 g10 1 R412004902
G 3/8 d12 1 R412004903

I

A
Y

R412005617 a4 M5 15 4 15 14.5 9 9
R412026810 a6 M5 16 4 15 14.5 9 9
R412004898 a4 G1/8 14.5 55 15 19.5 13 9
R412004899 26 G1/8 16.5 55 16 19.5 13 1"
R412004900 a8 G1/8 18.5 5.5 18 19.5 13 13
R412004901 26 G 1/4 15.5 6.5 16 20.5 16 11
R412005616 28 G 1/4 17.5 6.5 18 20.5 16 13

EMERSON.



AVENTICSCSL-RD > U—X 2 ZJ DA — 99
(ISO 6432) 2024-01-18
<5V - o
FLES R—b D R—bK G
R412004902 210 G3/8 18.5 7 19 24 21 16
R412004903 212 G3/8 21 7 19 265 21 19
R412026809 212 G172 33,5 11 19 28.5 20 19
\

EMERSON.



AVENTICSCSL-RD ) —X 2”3 — 100
(ISO 6432) 2024-01-18

HESR, 2—XA SN

Hhl
ATVLARF=IL

FER—T)N
[dB]

TEA&RE

[I/min]

M5 85 73 0.003 R412010090
G1/8 920 1312 0.011 R412010081
G 1/4 93 1852 0.021 R412010082
G3/8 101 2678 0.028 R412010083
i
A N
[m)]
Ol & (R —
Y \
REL 1N L1 L

R412010090 M5 8 3.1 10.5 35
R412010081 G1/8 13 6.6 20 6

R412010082 G1/4 16 8.6 295 7.5
R412010083 G 3/8 19 12.1 335 75
R412010084 G172 24 15.3 39.5 9.5
R412010085 G 3/4 30 19.3 45 10

R412010086 G1 36 25.5 49.5 11.5

EMERSON.




nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




